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Correct Marks: 2 Wrong Marks: 0



From the list given below 1dentify those competencies of an effective teacher which relate to
the domain of personality and attitude.

(a) Locus of control

(b) Communicating

(c) Managing

(d) Self—efficacy

(e) Teacher enthusiasm

(f) Being organised and orderly

Select the correct answer from the options given below :

(1) (a). (b) and (c) (2) (a). (d) and (e)
(3) (b). (c) and (d) (4) (d). (e) and (D
Options:

615475167011
61547516702 2
61547516703, 3
E1547516704. 4

Question Number : 1 Question Id : 6154754283 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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61547516701, 1
E1547516702. 2
B1547516703. 3
61547516704, 4

Question Number : 2 Question Id : 6154754284 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
In the spectrum of teaching methods which of the following will be called ‘dialogic™?

(a) Demonstration method

(b) Problem—solving method

(c) Chalk and talk method

(d) Team teaching based method
(e) Interactive presentation

(f) Tutorials

Select your answer from the options given below :

(1) (a). (b) and (c) (2) (b). (¢) and (d)
(3) (c). (d) and (e) (4) (b). (e) and (f)

Options:



E1547516705. 1
61547516706, 2
61547516707, 3
61547516708, 4

Question Number : 2 Question Id : 6154754284 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

515475167051
61547516706, 2
61547516707, 3
61547516708, 4

Question Number : 3 Question Id : 6154754285 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which level of teaching, lower level learning outcomes get focussed?

(1) Memory level (2) TUnderstanding level
(3) Reflective level (4) Autonomous development level
Options:

61547516705, 1
61547516710, 2
61547516711, 3
E1547516712. 4



Question Number : 3 Question Id : 6154754285 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

51547516705, 1
61547516710, 2
61547516711, 3
E1547516712. 4

Question Number : 4 Question Id : 6154754286 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following evaluation systems belongs to the category of being an innovative
practice?

(1) Semesterized examinations (2) Performance evaluation
(3) Portfolio based evaluation (4) Learning outcome based evaluation
Options:

E1547516713. 1
B1547516714. 2
61547516715 3
E1547516716. 4

Question Number : 4 Question Id : 6154754286 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

515475167131
61547516714, 2
61547516715 3
E1547516716. 4

Question Number : 5 Question Id : 6154754287 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The purpose of ICT use in education 1s to

(1) Attract students (2) Make teaching interesting
(3) Optimise learning outcomes (4) Promote technology culture in teaching
Options:

61547516717, 1
E1547516715. 2
E1547516713. 3
B1547516720. 4

Question Number : 5 Question Id : 6154754287 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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61547516717, 1
615475167158, 2
E15475167143. 3
B1547516720. 4

Question Number : 6 Question Id : 6154754288 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In the post positivistic approach to research which of the following types of researches got

emphasized?
(a) Experimental research
(b) Phenomenoclogical research

(c) Ethnographic research
(d) Ex Post Facto research

(e) Action research

Give the correct answer from the options given below :

(1)  (a). (b) and (c) (2) (b), (c) and (d)
(3) (b). (c) and (e) (4) (c). (d) and (e)

Options:



E1547516721.1
B1547516722 2
B1547516723. 3
E1547516724. 4

Question Number : 6 Question Id : 6154754288 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

E1547516721. 1
B1547516722 2
B1547516723. 3
B1547516724. 4

Question Number : 7 Question Id : 6154754289 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



In which of the following formats. ‘Research Abstract’ 1s a must?

(a) Research article

(b) Seminar paper presented
(c) Thesis

(d) Research synopsis

Choose the most appropriate option from those given below :

(1) (a). (c) and (d) (2) (a).(b)and (d)
(3) (a). (b) and (c) (4) (b). (c) and (d)
Options:

615475167251
E154751672E. 2
E1547516727. 3
B1547516728. 4

Question Number : 7 Question Id : 6154754289 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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B1547516726. 2
B1547516727. 3
61547516728, 4

Question Number : 8 Question Id : 6154754290 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following sequences represents the most logical sequence 1n doing research?

(1) Identifying and defining a research problem. formulating a hypothesis, testing of
hypothesis and reporting the results

(2) Identify a research problem, defining the population and sample, collecting data and
analysis of data

(3) Survey of research. defining the research problem. collecting data and presenting the
outcomes

(4) Defining research wvarables, hypothesizing. testing of research and reporting of

research outcomes

Options:

61547516729, 1
15475167320 2
61547516721, 5
61547516732 4

Question Number : 8 Question Id : 6154754290 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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1547516729, 1
15475167320 2
61547516721,
61547516732 4

Question Number : 9 Question Id : 6154754291 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



A umversity teacher intends to study the relationship between level of aspiration and
achievement of rural children. Which design of research will be most appropriate in the
context?

(1) Experimental research design (2) Ex Post Facto research design
(3) Historical research design (4) Survey research design
Options:

E1547516733. 1
E1547516734. 2
61547516735 3
G1547516736. 4

Question Number : 9 Question Id : 6154754291 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Tt Tavafaamem & v Bes =+ 97 fEr & & oo o= 1 30afey =98 3991 SIa & =1 & 959 &
T 1 A T S 55 e i 3w g f w8 W g - a1 taeen Tes i 3w wm e

(1)  TETcHE IE - ATHE (2) = - A e
(3)  TfFErmE wyg-sfaEey (4) TEET Y- A
Options:

E1547516733. 1
E1547516734. 2
61547516735 3
G1547516736. 4

Question Number : 10 Question Id : 6154754292 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hypothesis testing 1s the main concept of which type of research?

(1) Experimental research (2) Historical research
(3) Survey research (4) Exegetic research
Options:

61547516737, 1
E1547516738. 2
E1547516739. 3
B1547516740. 4

Question Number : 10 Question Id : 6154754292 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547516737, 1
61547516738, 2
61547516739, 3
E1547516740. 4

Question Number : 11 Question Id : 6154754293 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Communication 1n the classroom takes place in which of the following levels?

(1) Opportunistic meaning (2) Surfacial meaning
(3) Noise-level meaning (4) Non-coded meaning
Options:

615475167411
61547516742 2
61547516743 3
61547516744, 4

Question Number : 11 Question Id : 6154754293 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

B1547516741. 1
61547516742 2
61547516743 3
61547516744, 4

Question Number : 12 Question Id : 6154754294 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Effective classroom communication can transform
(1) academic administration (2) academic marketing

(3) teaching—learning process (4) management strategies



Options:

61547516745, 1
1547516746 2
1547516747, 2
61547516748, 4

Question Number : 12 Question Id : 6154754294 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547516745. 1
E154751674E. 2
B1547516747. 3
61547516748, 4

Question Number : 13 Question Id : 6154754295 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Learner communication has relatively high potential of challenging

(1) Teaching as profession (2) Innovative and creative ideas
(3) Methods of evaluation (4) Long-held attitudes
Options:

B15475167459. 1
61547516750, 2
61547516751, 3
61547516752, 4

Question Number : 13 Question Id : 6154754295 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

fovemefi T F qeTeRE F9 " A T 3= AT 2

(1) =IaE™E F =9 F e (2) aEmEm R T T
(3)  TeATEA A wEtE (4) =@ THE T i At
Options:

E1547516745. 1
E1547516750. 2
51547516751, 3
61547516752, 4

Question Number : 14 Question Id : 6154754296 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0
Which of the following are rhetorical techniques for structuring classroom communication?

(a) Relating the day’s topic to students’ interests

(b) Providing scattered information to the target audience

(c) Smooth transition from one 1dea to another

(d) Avoiding the use of artifacts

(e) Using media to improve the quality aspect of reception of messages

(£) Opting for one-way communication

Choose the correct option from the choices given below :

(1) (a). (b) and (c) (2) (b). (c) and (D
(3) (a). (c) and (e) (4) (d). (e) and (D
Options:

515475167531
61547516754, 2
61547516755 3
E154751675E6. 4

Question Number : 14 Question Id : 6154754296 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

615475167531
61547516754, 2
61547516755, 3
E1547516756. 4

Question Number : 15 Question Id : 6154754297 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Given below are two statements — one is labelled as Assertion (A) and the other is labelled as

Reason (R).

Assertion (A):  Defining the objectives of the topic of dicussion 1s not necessarily the first

step 1n classroom communication

Reasons (R) : Clear defimitions of objectives make students understand the topic well.

In the light of the above stated two statements, choose the correct option from the cholces

given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(3) (A) 1s true, but (R) 1s falze

(4) (A) 1s false. but (R) 1s true

Options:
1547516757, 1

E15475167558. 2
E1547516759. 3
B1547516760. 4

Question Number : 15 Question Id : 6154754297 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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E1547516757. 1
61547516758, 2
61547516755, 3
E1547516760. 4

Question Number : 16 Question Id : 6154754298 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A 1s father of B and C 1s sister of A. D 1s grandson of C. How 1s D related to B?

(1) Uncle (2) Nephew
(3) Cousin (4) Grandson
Options:

E15475167EL. 1
B1547516762. 2
BE1547516763. 3
61547516764, 4

Question Number : 16 Question Id : 6154754298 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547516761, 1
E1547516762. 2
61547516763, 3
E1547516764. 4

Question Number : 17 Question Id : 6154754299 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547516765, 1
61547516766, 2
E15475167EY. 3



E154751676E. 4

Question Number : 17 Question Id : 6154754299 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
E15475167EE. 1
61547516766 2
1547516767, 2
61547516765 4

Question Number : 18 Question Id : 6154754300 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

H HPU =9, JNU =9, then DI7 =7

(1) 5 (2) 6
(3) 4 4 7
Options:

E154751676%9. 1
E1547516770. 2
E1547516771. 3
B1547516772. 4

Question Number : 18 Question Id : 6154754300 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

aff HPU =90, JNU=90, @i DU= 7

(1) 5 (2) 6
(3) 4 & 7
Options:

E154751676%9. 1
B1547516770. 2
B1547516771. 3
E1547516772. 4

Question Number : 19 Question Id : 6154754301 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which one 1s the wrong number in the given series?

3. 13. 43. 53. 63. 83.

(1) 13 (2) 53
(3) 63 (4) &3
Options:

615475167731
61547516774, 2
E1547516775. 3
B1547516776. 4

Question Number : 19 Question Id : 6154754301 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0
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3. 13, 43, 53, 63, 83

(1) 13 2y 53
(3) 63 (4) 83
Options:

615475167731
61547516774 2
61547516775 3
E1547516776. 4

Question Number : 20 Question Id : 6154754302 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A sum of money with compound interest becomes Rs. 2,400 1n one vear and Rs. 3,000 1in two
yvears. Find out the principal amount.

(1) Rs. 1,900 {(2) Rs. 1,910
(3) R=. 1,915 (4) Rs. 1,920
Options:

B1547516777. 1
B1547516778. 2
B15475167759. 3
61547516750, 4

Question Number : 20 Question Id : 6154754302 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3) 1915 %, (4) 1920 =.
Options:

E1547516777. 1
E1547516778. 2
B15475167759. 3
61547516750, 4

Question Number : 21 Question Id : 6154754303 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The term “Yogaja’ (intuitive) pertains to which of the following pramanas?

(1) Perception (2) Inference
(3) Verbal testimony (4) Comparison
Options:

61547516751, 1
61547516782, 2
E15475167583. 3
E1547516754. 4

Question Number : 21 Question Id : 6154754303 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547516781. 1
B1547516782. 2
61547516783, 3
61547516754, 4

Question Number : 22 Question Id : 6154754304 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



In which of the following propositions. both can be true simultaneously but cannot be false
simultaneously?

(1) Contrary (2) Contradiction
3 Sub contrary (4) Subaltern
Options:

E1547516785. 1
BE1547516786. 2
B1547516787. 3
61547516758, 4

Question Number : 22 Question Id : 6154754304 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

51547516785, 1
G15475167586. 2
E1547516787. 3
E15475167EE. 4

Question Number : 23 Question Id : 6154754305 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following pramanas 1s used by classical Indian school of logic to prove the

existence of God?

(1) Arthapatti (postulation) (2) Upamana (comparison)
(3) Perception (Pratyaksa) (4) Inference (anumana)
Options:

61547516755, 1
61547516730, 2
61547516731, 3
E1547516732. 4

Question Number : 23 Question Id : 6154754305 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547516755, 1
61547516730, 2
61547516731, 3
E1547516732. 4

Question Number : 24 Question Id : 6154754306 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“All tigers are animals™. This 1s an example of which type of proposition?

(1) Particular Negative (2) Particular Affirmative
(3) Universal Negative (4) Umversal Affirmative
Options:

BE15475167393. 1
61547516734 2
61547516735 3
E1547516736. 4

Question Number : 24 Question Id : 6154754306 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  fagm fuy (2) foum fag=
(3)  =EYm fmy (4) TEYE fEm
Options:

E1547516733. 1
61547516734, 2
E1547516735. 3
B15475167396. 4

Question Number : 25 Question Id : 6154754307 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The inference “A mouse 1s an animal. Therefore, a large mouse 1s a large animal” commits
which one of the following fallacies?

(1) Straw man (2) Shpper slope
(3) Equivocation (4) Fallacy of composition
Options:

61547516737, 1
615475167358, 2
E15475167399. 3
E1547516800. 4

Question Number : 25 Question Id : 6154754307 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) =@ (2) Teawdt =g
(3) A (4) @R I
Options:

61547516737, 1
E1547516735. 2
E15475167395. 3
51547516800, 4

Sub-Section Number: 2
Sub-Section Id: 615475193
Question Shuffling Allowed : Yes

Question Id : 6154754308 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Juestion Label - Comprehension



Directions (Que. : 26-30)

The following table gives the sales of computers of different types or brands over the years
2001 to 2007. Baszed on data. answer the questions (26 — 30).

Number of different types of computers sold (In thousands).

Tvpes of Computers
Lenovo | Acer | IBM | HCL
2001 20 40 50 80
2002 30 25 60 70
2003 50 50 50 55
2004 60 70 40 35
2005 70 85 70 25
2006 80 45 80 20
2007 90 60 100 | 10

Years

-

Sub questions

Question Number : 26 Question Id : 6154754309 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The difference in the number of Acer computers sold 1n 2002 and 2005 1=

(1) 15.000 (2) 20,000
(3) 45,000 (4) 60,000
Options:

61547516801, 1
E1547516802. 2
E1547516803. 3
51547516804, 4

Question Number : 27 Question Id : 6154754310 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The percentage increase 1n the sales of Lenovo computers in 2007 compared to sales 1n
2001 1s

(1) 200% (2) 250%
(3) 300% (4) 350%
Options:

61547516805, 1
61547516806, 2
E1547516807. 3
E1547516808. 4

Question Number : 28 Question Id : 6154754311 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Name the type of computer for which the total sale 1n all the seven years 1s maximum?

(1) IEM (2) Lenovo
(3) Acer (4) HCL
Options:

£154751680%9. 1
E1547516810. 2
E1547516811. 3
BE1547516812. 4

Question Number : 29 Question Id : 6154754312 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which vear, the percentage of Acer computers sold as to the total number of computers
sold, was maximum?

(1) 2003 (2) 2004
(3) 2005 (4) 2007
Options:

615475168131
61547516814, 2
61547516815, =
E154751681E6. 4

Question Number : 30 Question Id : 6154754313 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Name the type / brand of computer whose sale has decreased continuously over the vears
2001 to 2007.

(1) Lenovo (2) Acer
(3) IBM (40 HCL
Options:

61547516817, 1
615475168158, 2
E15475168818. 3
E1547516820. 4

Question Id : 6154754308 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (26 to 30)
Cesticn Label | Comprehension



e : w9 9T 26 § 30

e afetl ® 99 2001 H 2007 F 27 50 fafus TR 51991 575 & Fog0 1 ol w1 39 =
2| 31 & TR W 9vT HEA (26-30) 1 I S0
s U Tt TR S e i Hen (FEE )

; FAH H TFR
2001 20 40 50 30
2002 30 25 b0 70
2003 50 50 30 55
2004 60 70 40 35
2005 7 B85 70 25
2006 80 45 80 20
2007 o0 60 100 10

Sub questions

Question Number : 26 Question Id : 6154754309 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

79 2002 F9T 9 2005 T 59 T UH FogA F TEA | THAA AT R 7

(1) 15.000 (2) 20,000
(3) 45.000 (4) 60,000
Options:

61547516801, 1
E154751680Z. 2
E1547516803. 3
51547516804, 4

Question Number : 27 Question Id : 6154754310 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

aF 2001 ° £ fefi 1 o1 °§ 99 2007 H wHE Foger it fEfi 5 fa wfaea f gfg g2 27

(1) 200% (2) 250%
(3) 300% (4) 350%
Options:

E1547516805. 1
51547516806, 2
61547516807, 3
61547516808, 4



Question Number : 28 Question Id : 6154754311 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

S8 FH T TR FAET TT5 T f9hi = A9 TG 6 20 ATTwa T

(1) =M (2) A
) T (4) = H T
Options:

51547516809, 1
61547516810, 2
61547516811, 2
61547516812, 4

Question Number : 29 Question Id : 6154754312 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

fohm = w Aege i1 ot 1 wiavm Fe e Fogz 1 g i g § sAtashag = un?

(1) 2003 (2) 2004
(3) 2005 (4) 2007
Options:

615475168131
61547516814, 2
£1547516815. 3
E154751681E6. 4

Question Number : 30 Question Id : 6154754313 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

36 YA /AT F FgeT F AW Fase, fyedh faf § =39 2001 ¥ 99 2007 F SO0 w69 TREZ wE R

(1) =] (2) THY
(3) SEW T (4) w=H U=
Options:

61547516817, 1
E15475168158. 2
E1547516813. 3
B1547516820. 4

Sub-Section Number: 3
Sub-Section Id: 615475194



Question Shuffling Allowed : Yes

Question Number : 31 Question Id : 6154754314 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In computer related activities. which of the following 1s inappropriate for describing a
language translator?

(1) Assembler (2) Compiler
(3) Interpreter (4) Codec
Options:

515475168821, 1
E1547516822. 2
61547516823, 3
E15475168824. 4

Question Number : 31 Question Id : 6154754314 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) e (2) FuTEed
(3) == (4) F=F
Options:

BE1547516821. 1
B1547516822. 2
61547516823, 3
61547516824, 4

Question Number : 32 Question Id : 6154754315 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following 1z most suitable for being designated as Fourth Generation Language
(4GL)?

(1) ALGOL (2) dJava
(3) C (4) SQL
Options:

E1547516825. 1
B1547516826. 2
G1547516827. 3
E1547516828. 4

Question Number : 32 Question Id : 6154754315 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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() T S @ =
(3 = (4) ™
Options:

E1547516825. 1
BE1547516826. 2
B1547516827. 3
61547516828, 4

Question Number : 33 Question Id : 6154754316 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Given below are two statements — one 15 labelled as Assertion (A) and other as Reason (R) :

Assertion (A) :  Smiffing may be used to steal data or information over a network.

Reasons (R) : Smiffing 1s a process of monitoring and capturing all data packets passing
through given network.

In the light of the above stated two statements, choose the correct option from the choices
given below :

(1) Both (A) and (R) are true and (R) 1s the correct explanation of (A)
(2) Both (A) and (R) are true and (R) 13 not the correct explanation of (A)
(3) (A) 13 true, but (R) 1s false
(4) (A) 1s false. but (R) 18 true
Options:
61547516829, 1
61547516830 2

61547516821, 3
61547516832, 4

Question Number : 33 Question Id : 6154754316 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (A =% (R) ZET T& 2 #17 (R). (A) i 781 == 2

(2)  (A) 2R (R)3FI T=1 &, 74 (R). (A) Fi °&t == 74 2
(3) (A =E 2, g (R) &=t 75 =

) (AT T, F R TR E

Options:

61547516829, 1
61547516820 2
1547516821, 2
61547516822 4

Question Number : 34 Question Id : 6154754317 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which of the following terms is related to the digital learning environment for design?

(1) e-Vidwan
(2) e-Acharya
(3) e-Kalpa
(4) e-Yantra

Options:

61547516833, 1
61547516834 2
61547516835 2
1547516836 4

Question Number : 34 Question Id : 6154754317 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  s-TagEm

(2) - AEHE
Fhe
o

(3) 3-%
4 -3
Options:

E15475168823. 1
E15475168234. 2
51547516835, 3
61547516836, 4

Question Number : 35 Question Id : 6154754318 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which of the following tools 1s a collaboration tool for providing wirtual classroom

environment?
(1) A-Lab
(2) A—View
(3) A-Tutor

(4) A-Tearner

Options:

61547516837, 1
61547516838 2
61547516839 2
1547516840 4

Question Number : 35 Question Id : 6154754318 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) o=

@ T

3) TR

(4) T
Options:

E1547518837. 1



E1547516838. 2
51547516839, 3
61547516840, 4

Question Number : 36 Question Id : 6154754319 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Methane. a greenhouse gas. 15 emitted from

(a) landfills

(b) construction debris
(c) wet lands

(d) e-waste

Choose the correct statements from the options given below :

(1) {a). (b) and (d) (2)  (a). (c) and (d)
(3) (a) and (c) only {4) (a)and (d) only
Options:

51547516841, 1
61547516842 2
61547516842, 3
E1547516844. 4

Question Number : 36 Question Id : 6154754319 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Meq, TF W9 718 79, AeeEd 5§ R oty B R

(a) E-;.-:!-:F-'{*':g
(b)  TAui FH * Hed
(¢) =AY

i

(d) -3 IMETE

FefeEy 8 w8 ey =91

(1) (a). (b) =T (d) (2} (a). (c) 3 (d)
(3)  =ae (a) FE () (4) =Fae (a) @R (d)
Options:

615475165841, 1
E1547516842. 2
E1547516843. 3
51547516844, 4

Question Number : 37 Question Id : 6154754320 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



The share of which of the following sources of energy in electricity generation in India at
present 1s the least?

(1) Thermal (2) Solar and Wind
(3) Hydro (4) Nuclear
Options:

61547516845, 1
61547516846, 2
E1547516847. 3
E15475168458. 4

Question Number : 37 Question Id : 6154754320 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g 7 T seaeT # 999H # Fefatad 7 B At |m 0 e e 20
(1) == (2) =R #HT T
{3} [ - I: "~ (4} 5 ; :

Options:

51547516845 1
61547516846, 2
61547516847, 3
E15475168458. 4

Question Number : 38 Question Id : 6154754321 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Biosphere reserves are :

(1) area comprising terrestrial. marine and coastal ecosystems
(11) monitored by national governments
(1) areas where threatened amimals and plants are kept in their habitat

(tv)  wildlife sanctuaries

Choose the correct statements from the options given below :

(1) (1) and (11)
(2) (11) and (111)
(3) (i11) and (iv)
(4) (1) and (1v)

Options:
15475168459 1



E1547516850. 2
51547516851, 3
61547516852, 4

Question Number : 38 Question Id : 6154754321 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
9 Antaa & (SR o) #
(1) Y-, Al R a2adl arii-a= a3k
(1) U TR g i

=

(i) = TATH FEl THZ-TEF YIS Tl 1 39 TEEE | T A

(iv)  IHd A9gETg

FeAfefias foepel § 9 91 F9E oA
(1) (1) 31T (iD)
(2)  (il) ST (iii)
(3) (ii1) #1T (iv)
(4) (1) 3T Gv)
Options:
E1E47E1E249 1
61547516850, 2

E1547516851. 3
51547516852, 4

Question Number : 39 Question Id : 6154754322 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



A green building

(1) uses minimum amount of energy
(11) generates waste

(i11) consumes a lot of water

(1v) conserves natural resources

(v) creates space for healthy hiving

Choose the correct statements from the options given below :

(1) (1). (11) and (111)
(2) (1). (iv) and (v)
(3) (11). (111) and (v)

(4) (). (iv) and (v)
Options:
15475165521
E1547516854. 2
£1547516555 2
61547516856 4

Question Number : 39 Question Id : 6154754322 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TF TARY FFA 999 (7 fafee)
(1)  =aE Sl % ST A A
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fr=fafgn foweat 8 % 98 FuE =

(1) (). (i) 3R (i)
2) ([, () I (W)
(3) (i), (iii) W (v)

(4) (ii). (iv) T (v)

Options:

61547516853, 1
61547516854, 2
1547516855 2
1547516856 4

Question Number : 40 Question Id : 6154754323 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 WrongMarks: 0

National Disaster Management Authority 1s an agency of the Ministry of

(1) Jal Shakti (2) Home Affairs
(3) Earth Science (4) Housing and Urban Affairs

Y A9 TEeH e Fetatad § O B g i o v 27

(1) == 3 @ T=wE
(3)  gzdi fawm (4) oTE™ 3R wEd =
Options:

61547516857, 1
E15475168558. 2
E1547516859. 3
B1547516860. 4

Yes



Question Number : 40 Question Id : 6154754323 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
TP ATIET e e efatad 4 o e wees oo et 27

(1) = =1 2 T FE
(3) g e (4) EE AT TR T
Options:

E1547518857. 1
E1547516858. 2
51547516859, 3
61547516860, 4

Question Number : 41 Question Id : 6154754324 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Identify the distinctive feature of traditional method of Indian education from the following
st :

(1) Direct perception of truth’ — both as means and end
(2) Making everything on "Trust’
(3) Evolving own way of learning

(4) Following Nyayva Philosophy with Deductive — Inductive Process

Options:

61547516861, 1
61547516862 2
1547516862 2
1547516864 4

Question Number : 41 Question Id : 6154754324 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Frterfign g=h 9 9 awdE fen 1 araies sone % e @ = g i

(1) g T U9 Y e AN O =9 o

(2)  TEvEE F YR W HEaH AT

(3)  ATE = A9 FOF I EAHEE F

(4) TP - AR TR Ay = 39 5 SAgE

Options:

61547516861, 1
1547516862 2
61547516562 5
61547516864, 4



Question Number : 42 Question Id : 6154754325 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of the following provides the overarching vision that guides research into socially
relevant-areas?

(1) ARITA (2) IMPRINT
(3) NIRF (4) SWAYAM PRABHA
Options:

E1547516865. 1
61547516866, 2
E1547516867. 3
61547516865, 4

Question Number : 42 Question Id : 6154754325 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

frafofas 4 @ #0 vF wAfdeas 2fe TEE WA 2 S A ¥ W UEeTE S § 9 H geEeE 2an
237
(1) T©RAEART (2) A uH O AW 7S A
(3) TH I AW TF (4) =T T
Options:

61547516865, 1
E154751686E. 2
E1547516867Y. 3
51547516868, 4

Question Number : 43 Question Id : 6154754326 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

In which of the following, ‘One Nation. One Standard’ 1s mentioned as the ‘'mantra’ to ensure
national standards and quality.

(1) National Policy on Education — 1968
(2) National Policy on Education — 1986
(3) National Policy for Skill Development and Entrepreneurship — 2015
(4) NITI Aayog — Three Year Action Agenda — 2017—18 to 20192020
Options:
61547516869, 1
61547516870 2
61547516871, 2
61547516872 4

Question Number : 43 Question Id : 6154754326 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
51547516869. 1
61547516870, 2
E1E47516871. 2
61547516872, 4

Question Number : 44 Question Id : 6154754327 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Non-traditional teaching and learnming strategies lay emphasis on

(1) Students’ need based resource materials and learning standards
(11) Developing skills, attitude and values

(imn) Promoting In-Box thinking process

(1v) Lecture based model

(v) Acquiring knowledge necessary to respond creatively

Select your answer from the following options :

(1) (1). (11) and (v) (2) (). (i11) and (1v)
(3) (111), (1v) and (v) (4 (). v) and (v)
Options:

61547516873 1
61547516874, 2
E1547518875. 3
B1547516876. 4

Question Number : 44 Question Id : 6154754327 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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fatafias a8 9 391 =71 =999 Fifav .

1) Q). (D) 7R @) (2) (i). (i) = (iv)

(3)  (iiD). (iv) T (v) @) @), (v) 377 (v)
Options:

BE1547516873. 1
61547516874, 2
61547516875, 3
61547516876, 4

Question Number : 45 Question Id : 6154754328 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify values specially related to organizational ethos from the list given below :

(1) Team work 1n the approach

(11) Productivity of the tasks

(1) Changes 1n the global contents

(iv)  Financial security

(V) Humility in dealing with others’ concerns

(vi)  Technological resources

Choose your answer from the following options :

(1) (1), (1) and (v1)
(2) (1), (1v) and (v)
(3) (11). (1) and (v)
(4) (1), (11) and (v)

Options:

61547516877, 1
61547516878 2
615475168793 2
615475168280 4



Question Number : 45 Question Id : 6154754328 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

W= 21 = T= 4 F@ faem =9 9 weTeRs At (Suim) # metia e 1 Tmem Fifw

(1) 97 | Ag-a%

(i) = = IEqEEAT

(i)  ATew HvE-—am § =2

(iv)  fa=i= geem

(v)  =E A TEae & weE T T e
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(1) (@), (i) =W (vi)
@ (i), (v) 3R (v)
(3) (i), (iii) AR (iv)
@) (). ({) AT (v)

Options:

61547516877, 1
61547516878 2
1547516879, 2
615475163550, 4

Sub-Section Number: 4
Sub-Section 1d: 615475195
Question Shuffling Allowed : Yes

Question Id : 6154754329 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuesticon Label | Comprehension



Read the passage carefully and answer guestions from 46-50.

The pre-first world war era 1= really in a way well suited for an in-depth evaluation of
popular movements., as they were spontaneous and no more than. marginally affected
intelligentsia 1deologies. objectives or technigues. The limitations of such spontaneity are
fairly clear. Popular movements were directed usually against the immediate Indian
oppressor rather than the distant white superior. and so were often not consciously or
subjectively anti-imperialist. They tended to be fairly widely scattered in both space and
time, and were extremely volatile with different social forms of articulation interpenetrating
and passing over each other with bewildering ease. All this makes 1t rather difficult to accept
without some gualification the concept of Peasant Nationalism’™ as a coherent alternative to
elite patriotic 1declogies and movements, popular imtiative and autonomy were undoubted.
even remarkable at times. but. unlike middle class nationalism which does have certain
continuity. at the level of 1deoclogy at least, from the formulation of the drain of wealth theory
1n the 1870s onwards, the movement that have been considered were clearly fragmented. Yet
despite such limitations and crudities. popular unrest did anticipate much of middle class

nationalism in terms of 1ssues and forms of struggle. while its specific gains were at times

not inconsiderable. Forest rights. the burdens of rent. usury and land revenue. planter

exploitation and labour grievances were all themes taken over by middle class nationalizsm

later.

Sub questions

Question Number : 46 Question Id : 6154754330 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



What does the analysis of pre-first world war popular movements reveal?

(1) Intelligentsia’s influence on popular movement was less
(2) The movements were 1deological
(3) The movements had clear objectives

(4) Limited spontaneity
Options:
61547516881, 1
61547516882 2
615475168583 2
1547516854, 4

Question Number : 47 Question Id : 6154754331 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The popular movements were

(1) against imperalists (2) against their masters
(3) consciously violent (4) time bound
Options:

E1547516885. 1
61547516886, 2
E1547516887. 3
E1547516888. 4

Question Number : 48 Question Id : 6154754332 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to the passage. the 1ssue with peasant nationaliam was

(1) a viable alternative to elite nationalism
(2) coherence and control

(3) lack of continuity

(4) quite timely

Options:

61547516889, 1
61547516890 2
61547516891, 2
61547516892 4

Question Number : 49 Question Id : 6154754333 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The pre-war popular movements were of

(1) uniform social form (2) 1nsignificant value
(3) middle class nationalism (4) specific gain at times
Options:

5154751688593, 1
61547516834, 2
E1547516835. 3
E1547518836. 4

Question Number : 50 Question Id : 6154754334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

What is the author’s assessment of the popular movements?

(1) Some of the popular 1ssues were taken over by middle class nationalism
(2) It was bewildering and amusing
(3) It was remarkable and time-tested
(4) Pre-war popular unrest was anti-imperialist
Options:

E1547516897. 1
E15475168398. 2
51547516835, 3
61547516300, 4

Question Id : 6154754329 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (46 to 50)
Cuestion Label © Comprehension
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Sub questions

Question Number : 46 Question Id : 6154754330 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
o a7 I 73 % AR AR % S gRT 9 TR BihT E 7

(1) SR G T TG 1 THTE 90
(2) A dw=Tes 9

(3) Sl % T2 32vE 9

(4) Hiad wEsar

Options:

61547516881, 1
61547516882, 2
61547516882 2
1547516824 4

Question Number : 47 Question Id : 6154754331 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



AT AT

(1) HETSAETEA * g 9 (2) AT =HA F e 9
(3)  HEEE 3T A (4) THE-9g 9
Options:

E1547516885. 1
E1547516886. 2
B1547516887. 3
61547516888, 4

Question Number : 48 Question Id : 6154754332 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

FIwde & FIHR FF NZAIS HaHl gogr 74 917

() 96 IR 0 O S fe (2) AT s FEE
(3)  faaawar Fi == T
Options:

61547516889, 1
61547516830, 2
E15475188391. 3
E15475168392. 4

Question Number : 49 Question Id : 6154754333 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Tg-Jd AHTE AREH 4,

(3)  m=AH A UgdR (4) THg THg 9 e am
Options:

5154751688593, 1
61547516834, 2
E1547516835. 3
61547516836, 4

Question Number : 50 Question Id : 6154754334 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547516897, 1
61547516898, 2
61547516899 2
61547516900 4

PART II Defenice and Strategic Studies

Section Id : 61547560
Section Number : 2
Section type: Online
Mandatory or Optional: Mandatory
Number of Questions: 92
Number of Questionsto be attempted: 92
Section Marks: 200
Display Number Panel: Yes
Group All Questions: No
Sub-Section Number: 1
Sub-Section 1d: 615475196
Question Shuffling Allowed : Yes

Question Number : 51 Question Id : 6154754335 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which one of the following countries is not situated in the “Golden Triangle”, largely
responsible for drug trafficking through the South East Asian region

(1) Myanmar (2) Thailand
(3) Laos (4) Vietnam
Options:

61547516301, 1
E1547516902. 2
E1547516903. 3
515475163904, 4

Question Number : 51 Question Id : 6154754335 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) =mn (2) s
(3)  =maE (4) THEFH
Options:

515475163901, 1
615475163902, 2
61547516303, 3
E1547516904. 4

Question Number : 52 Question Id : 6154754336 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Which one of the following 1s devoid of the classification as a military alliance?

(1) Defence pact (2) Non-aggression pact
(3) Entente (4) Detente
Options:

61547516905, 1
61547516306, 2
E15475168907. 3
E1547516908. 4

Question Number : 52 Question Id : 6154754336 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) 727 TaEiE (2)  FETEAY FEHET
(3) U (4) =a@a

Options:

E15475168805. 1
E1547516906. 2
B1547516907. 3
515475163908, 4

Question Number : 53 Question Id : 6154754337 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following countries 1s excluded as a member of the IBSA Dialogue forum
list

(1) India (2) Brazl

(3) Australia (4) South Africa



Options:

61547516909, 1
1547516910 2
1547516911, 2
61547516912 4

Question Number : 53 Question Id : 6154754337 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

fafeafiga § o o0 291 =1 ©F B0 % =0 A TOAT S FH S gl H " e w e
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(1) A (2) WA
(3) ATEZ fo (4) =fegor afrEF
Options:

61547516909, 1
61547516910, 2
E1547516911. 3
E1547516912. 4

Question Number : 54 Question Id : 6154754338 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following strategic theorists remarked that “In a multipower world. the
dangers are diffused, responsibilities unclear and definitions of vital national interests easily
obscured™

(1) Barry Buzan (2) Hugh Smith
(3) Kenneth Waltz (4) M. Howard
Options:

615475169131
61547516914, 2
E15475168915 3
E1547516916. 4

Question Number : 54 Question Id : 6154754338 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fAfetaa ® @ Fe |nifas fHas = ool #i off = “aryda fava & o« @k w6 7, s so7e
=i B 3N Aecayyl TP TaAl F1 wiamTe s | gusi w8

() 97w @ e e
(3) U TEH (4) TH. FES
Options:

E15475168913. 1
E1547516914. 2
51547516915 3
51547516916, 4



Question Number : 55 Question Id : 6154754339 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following theorists propounded that “National security 1s relative freedom
from harmful threats™

(1) John E. Mroz (2) I Bellany
(3) H. Smath (4) H. Kahn
Options:

61547516917, 1
E15475163915. 2
51547516919, 3
B1547516920. 4

Question Number : 55 Question Id : 6154754339 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fafafaa @ o fre fagmasr 3 7= vfanfea e o & o geen afaers gl @ antas w2
(1) A 99 (2) FE. s
(3) T =™ (4) = FEA

Options:

61547516917, 1
615475169158, 2
E1547516918. 3
E1547516920. 4

Question Number : 56 Question Id : 6154754340 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Who among the following thinkers stated that “Milieu. resources and collective action”are
the determinants of national power

(1) H.J. Morgenthau (2) Ravmond Aron
(3) H. Kissinger (4) R.Osgood
Options:

61547516921, 1
E15475168922. 2
E1547516923. 3
B1547516924. 4

Question Number : 56 Question Id : 6154754340 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547516921, 1
E1547516922. 2
E15475168923. 3
E1547516924. 4

Question Number : 57 Question Id : 6154754341 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“One for all. all for one” concept 1s related to which one of the following

(1) Collective Defence (2) Comprehensive security
(3 Common security (4) Collective security
Options:

E1547516925. 1
E1547516892E. 2
BE1547516927. 3
B1547516928. 4

Question Number : 57 Question Id : 6154754341 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
= mfi F fom, wft wF % o smuron fefataa § 3 feem dafa 27

[t

(1)  =mES @ (2) =9 G
(3) == i (FimA i) (4) TiEF giam
Options:

515475169251
E1547516926. 2
61547516927, 3
E15475168925. 4

Question Number : 58 Question Id : 6154754342 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

During the cold war vears. who among the following remarked that “Non-Alignment 1s the

third bloc”

(1) Robert S. McNamara (2) George P. Shultz

(3) Henry Kissinger (4) Richard Nixon



Options:

61547516929, 1
61547516920 2
1547516921 2
61547516932 4

Question Number : 58 Question Id : 6154754342 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

5154751692591
61547516920, 2
61547516931, 3
E15475168932. 4

Question Number : 59 Question Id : 6154754343 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The conflict in the Caucasus between Russia and Georgia was fought in the region of

(1) Ossetia (2) Chechnya
(3) Nagorno Karabakh (4) Armena
Options:

615475169352, 1
E15475169234. 2
E1547516935. 3
51547516936, 4

Question Number : 59 Question Id : 6154754343 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) s (2) ===
(3)  ANTHT FrETHEE (4) =HfE
Options:

51547516933, 1
61547516924, 2
61547516935 3
61547516936, 4



Question Number : 60 Question Id : 6154754344 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The New World order 1s related to which one of the following

(1) A belief that conflict was the best way to solve the world's problems

(2) A belief that cooperative approach 1s the best way to solve the world's problems
(3) A US plot to gain global control

(4) A Chinese plot to gain global control

Options:

£1547516937. 1
E1547516928. 2
61547516929,
61547516940 4

Question Number : 60 Question Id : 6154754344 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

B1547516937. 1

61547516938 2

61547516939, 3
61547516340, 4

Question Number : 61 Question Id : 6154754345 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The demand for North-South dialogue was a reaction to which one of the following

(1) End of Coldwar (2) 9/11 terrorist attack on US

(3) World Trade Organization Regime (4) New International Economic Order
Options:

615475169411

61547516942 2

61547516943 3

1547516944 4

Question Number : 61 Question Id : 6154754345 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

£1547516941. 1
E1547516942 2
E1547516943. 3
B1547516944. 4

Question Number : 62 Question Id : 6154754346 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Young Husband expedition 1s associated with which one of the following

(1) Afghanistan (2) Everest
(3) Tibet (4) Arunchal Pradesh
Options:

51547516945 1
61547516946, 2
61547516947, 3
E1547516945. 4

Question Number : 62 Question Id : 6154754346 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A7 FEEITE AT HEtengd 3§ R U ° Wy geidd B 7

(1)  =TFTH=ae (2) TEE=E
(3) fasua (4) TEITEA T
Options:

E1547516945. 1
E154751694E. 2
BE1547516947. 3
515475169458, 4

Question Number : 63 Question Id : 6154754347 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The vision document “Druzhba-Dost1” 1s related to which one of the following

(1) Indo-US Relations (2) Russia-India Relations
(3 Germany-India Relations (4) Indo-Uzbekistan Relations
Options:

515475169459 1
61547516950, 2
61547516951, 3



E1547516952. 4

Question Number : 63 Question Id : 6154754347 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
“eET-EEAl” e e Aeeiad § | E UF | Heiad B ¢

(1)  YHa-3Ta0 Tad (2) FHE-NA TEY
(3)  FHAI-9EA TEy (4) HFA-ITEEE TEY
Options:

515475169459 1
61547516950, 2
E1547516951. 3
61547516952, 4

Question Number : 64 Question Id : 6154754348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The concept of comprehensive security 1s focused on which one of the following

(1) State-Centric (2) Military power Centric
(3) Society-Centric (4) Development Centric
Options:

51547516953, 1
61547516954, 2
£1547516955. 3
E15475168956. 4

Question Number : 64 Question Id : 6154754348 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
=0 AT T SR FefeiEd 8§ B U W Hd B 7

(1) T=a-FHiz® (2) I=1 7T Hi®
(3) AFH-H5F (4) TawmE =%
Options:

61547516953, 1
61547516954, 2
E15475168955. 3
E1547516956. 4

Question Number : 65 Question Id : 6154754349 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



“All the forms of mihitary cooperation between potential enemies in the interest of reducing
the likelihood of war, its scope and violence if 1t occurs. and the political and economic cost of
being prepared for 1t”. The above statement made by Thomas
C. Schelling and M.H. Malperin relates to which one of the following :

(1) Disarmament (2)  Armament
(3) Arms control (4) Military strategy
Options:

E1547516957. 1
61547516958, 2
61547516959, 3
615475163960, 4

Question Number : 65 Question Id : 6154754349 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) T (2) =R
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Options:

B1547516957. 1
61547516958, 2
61547516959, 3
61547516360, 4

Question Number : 66 Question Id : 6154754350 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

In which year. the ‘Department of defence production and supplies’ was established after
merging defence production department and department of supplies in India.

(1) 1962 (2) 1965
(3) 1984 (4) 1994
Options:

61547516961, 1
E1547516962. 2
BE1547516963. 3
51547516964, 4

Question Number : 66 Question Id : 6154754350 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) 1962 (2) 1965
(3) 1954 (4) 1994
Options:

61547516961, 1
E1547516962. 2
E1547516963. 3
51547516964, 4

Question Number : 67 Question Id : 6154754351 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following strategic thinkers described war as a ‘Chameleon’™

(1) Jomini (2) Kautilya
(3) Carl Von Clausewitz (4) DMao-tse Tung
Options:

61547516965, 1
E1547516966. 2
E15475168967. 3
E1547516965. 4

Question Number : 67 Question Id : 6154754351 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

E1547516965. 1
B1547516966. 2
G1547516967. 3
6154751639658, 4

Question Number : 68 Question Id : 6154754352 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which group of these countries are included by ASEAN in ASEAN +3?

(1) China. Japan. Thailand (2) Japan. India. China
(3) China, Japan. South Korea (4) China, Russia. North Korea

Options:



E154751696%9. 1
61547516970, 2
51547516971, 3
E1547516972. 4

Question Number : 68 Question Id : 6154754352 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  =H, 99H, giEeTs (2) =, 9T, 94
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Options:

E1547516896%5. 1
E1547516970. 2
BE1547516971. 3
B1547516972. 4

Question Number : 69 Question Id : 6154754353 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which one of the following is not a Principle of Guerrilla Warfare?

(1) National character (2) Surprise
(3) Offensive action (4) Mobility and flexibility
Options:

E1547518973. 1
E1547516974. 2
61547516975 3
B1547516976. 4

Question Number : 69 Question Id : 6154754353 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

faafafiga @ @ =i @1 v g 35 fogm 79 2 7
(1) EE = (2) =T
{3} s — _-"_ nn". {4} .-': ~ m = _'_.H

Options:

61547516973, 1
61547516974 2
61547516975 2
61547516976, 4

Question Number : 70 Question Id : 6154754354 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Who said Peace is not the end, peace is just an instrument of policy like war™?

(1) Lenin (2) Mao Tse Tung
(3) Jomini (4) Fuller
Options:

61547516977, 1
E15475168975. 2
E1547516973. 3
51547516980, 4

Question Number : 70 Question Id : 6154754354 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

(e =aT AT “TNfet @359 71 7, T 1 Wil Ti-d 7 T i ST 2
(1)  =FE (2) @A H G
(3) ElNEE (4) Fer
Options:

61547516977, 1
61547516978, 2
E15475168978. 3
E1547516980. 4

Question Number : 71 Question Id : 6154754355 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Economist David Ricardo conceptualized the theory of international trade termed as one of

the following

(1) Theory of absolute advantage (2) Theory of comparative advantage
(3) Theory of equal advantage {(4) Theory of total advantages
Options:

E1547516951. 1
61547516982, 2
E15475169583. 3
E1547516954. 4

Question Number : 71 Question Id : 6154754355 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



= d
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(1) 9o =4 1 g (2) dEATCHE ATH H Hg
(3)  =EE =Y 1 Eg (4) T =Y T Hg
Options:

E15475168951. 1
E1547516982. 2
B1547516983. 3
61547516954, 4

Question Number : 72 Question Id : 6154754356 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Dumping of goods refers to which one of the following

(1) Buying goods at low prices abroad and selling at higher prices locally
(2) Expensive goods selling at low prices

(3) Selling of goods and commodities at low prices in international market below those at

the home market

(4) Reduction in tarrifs

Options:

£1547516985. 1
61547516956, 2
61547516987, o
61547516988, 4

Question Number : 72 Question Id : 6154754356 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

et 9 & awga i Sfm g o a@afim 27
(1) == ¥ =9 geal T F5g97 51 T@iE FA7 00 T T T I ge W s e
(2)  HEAl TG O geAl WA

(3) TGl GYT B I SAIPA SR § 9ie A= F goai § 0 god W oae

(4) oA § FHAA F
Options:
61547516955, 1
61547516986, 2
61547516987, 2
E1547516928. 4



Question Number : 73 Question Id : 6154754357 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Who among the following articulated that “there 1s no-single cause of war: peace 1s an

equilibrium among many forces™?

(1) M. Howard (2) Quincy Wright
(3) Fredrick L. Schuman (4) K. Booth
Options:

51547516989, 1
61547516930, 2
61547516931, 3
E1547516952. 4

Question Number : 73 Question Id : 6154754357 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
fefataa 8 & e s=im 6 2 "9 T haw UF FA0 FE B 9 AheAl & fE wiied U e

(1) . 7= (2) T
(3) Wi Ue. A (4) . 54
Options:

E15475168959. 1
E1547516930. 2
51547516931, 3
61547516932, 4

Question Number : 74 Question Id : 6154754358 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Who among the following theorists remarked that “Nehru's 1dealism 1s the realism of the

future™?

(1) Hans J. Morgenthau (2) S.P. Cohen
(3) Ray S. Cline (4) M. Breacher
Options:

615475169392, 1
E15475169394. 2
515475169395 3
515475169356, 4



Question Number : 74 Question Id : 6154754358 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fafafiga fagrasr 8 ° e ol i 2 & 2= % aevaEre glas =1 gdans 207
1)  #=| 3. oiieet (2) wE.H.
(3)  1.UH. T (4) TH. R

Options:

615475169392 1
61547516934, 2
E154751689385. 3
E15475169396. 4

Question Number : 75 Question Id : 6154754359 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

“The Five Power Defence Arrangement’ (FPDA) established 1n 1971 have following members

(1) Brazil. Canada, Mexico. UK., USA
(2) Austraha, Malaysia, New Zealand. Singapur and UK
(3) Australia. Japan. New Zealand. UK and USA

(4) China, France Russia. UK and USA
Options:

615475169971

1547516995 2

1547516999 2

1547517000 4

Question Number : 75 Question Id : 6154754359 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

9 1971 7 =iva 2 wEa v fo9m e (vw i < u) % fefete 55 7

(1) @A, F7S1, 2T, 3.%., 3.0E.0,

2 s, =i, e, T a1
(3)  Afern, S9H, FHEieE, 3%, 99 I.UA.T,
(4)  =fF, w1\, =9, 1.5, 99 1040,

Options:
E154751649597. 1



E15475169395. 2
51547516955, 3
61547517000, 4

Question Number : 76 Question Id : 6154754360 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

In 2019, India signed a deal with Rs. 1.500 cr to boost the capabilities of the IAF. The deal

was related to the purchase of which of the following

(1) S-400 Ant1 Ballastic missile defence system
(2) R-27 Air to Air missile
(3) SU-35 fighter jets

(4) Apache attack helicopters

Options:

61547517001, 1
61547517002 2
61547517002 5
61547517004, 4

Question Number : 76 Question Id : 6154754360 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

af 2010 & Wit T A (A0 T UE) i FHAIH F T2 H € WwE T 1500 IS w9 F AU W

AT o) Frafafiaa § & el o | 98 Sie gatag o7

(1)  TH-400 TF Selieesh o (S o

(2) AN-27 &1 % 71 ° AW w Al HEE
(3)  TH I-35 IgF HZH

(4) ST 32w ey
Options:
61547517001 1
E1547517002 2
E1547517003 =
61547517004 4

Question Number : 77 Question Id : 6154754361 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Which among the followings are members of the Regional Comprehensive Economic

Partnership (RCEP)

(1) Myanmar, Laos and Indonesia (2) India. Russia and Indonesia
(3) India. Bangladesh and Indonesia (4) Bangladesh, Russia and Indonesia
Options:

61547517005, 1
E1547517006. 2
E1547517007. 3
E1547517008. 4

Question Number : 77 Question Id : 6154754361 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

i = AT ArgEn (e FeafE sweE ey (A i ) F e i g A o

T J_HI T-'_"'n?
(1) I{I-HHE ‘“_‘ﬂ_ﬂm «3:|J|7 :.’.;':;f-:IF.:r' ] {2} HE. =4 T:fl’{ m
Options:

51547517005, 1
61547517006, 2
61547517007, 3
E15475170038. 4

Question Number : 78 Question Id : 6154754362 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The main scientific objective of Chandarvaan-2 to map the location and abundance of lunar

water was to be carried out by which among the following

(1) Lander Vikram (2) Lunar Orbiter
(3) Rover Pragyan (4) Pathfinder
Options:

51547517003, 1
61547517010, 2
61547517011, 3
61547517012, 4

Question Number : 78 Question Id : 6154754362 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) o= fam (2) TIH A
(3) T TEH (4) Y FER
Options:

61547517009, 1
61547517010, 2
E1547517011. 3
B1547517012. 4

Question Number : 79 Question Id : 6154754363 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

To materialise the 1dea of ‘Make in India” in defence production. which committee arrived at
three models for the Indian setup-‘strategic partnership. developmental partnership and

competitive partnership’

(1) V.K. Mishra Committee (2) Arun Singh Committee
(3) Dhirendra Singh Committee (4) Kelkar Committee
Options:

615475170121
E1547517014. 2
E1547517015 3
B1547517016. 4

Question Number : 79 Question Id : 6154754363 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

T8 SAATEA ° “HE = 3tEAr i g i 54 w9 2H F o R afafa 3 vwdE s=maeen F o dm aeem
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(1) faF. fon o (@) ¥ foE =t
(3) it foE i (4) =T G
Options:

E1547517012. 1
B1547517014. 2
61547517015 3



E1547517016. 4

Question Number : 80 Question Id : 6154754364 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

With reference to defence, the term Swathi is associated with which one of the following

(1) Indegenecusly built electric attack submarine by India
(2) Intercontinental Ballasitic Missile
(3) Dedicated communication satellite for armed forces

(4) Indigenocusly developed weapon locating RADAR by India

Options:

61547517017, 1
61547517018 2
1547517019 2
1547517020 4

Question Number : 80 Question Id : 6154754364 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

181 % Hed ° 9Ny e =t 1 gey Aeieiiga 8§ o e my 27

(1)  9a g S=esi =9 8 Fiig soifees i wget (Fas)
(2)  FA=E-GIT TEE TaE
(3) | & F U Tgiid 596 IR

(4) qE g1 eIl ®9 ° T 79 F 909 ST a8

Options:

615475170171
61547517018 2
61547517019 2
61547517020, 4

Question Number : 81 Question Id : 6154754365 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
PPES’ refers to which one of the following
(1) Planning, Programming and Borrowing System
(2) Planning Parity Between Services
(3) Programming, Public and Budgeting System
(4) Planning, Programming and Budgeting System

Options:
61547517021, 1



B1547517022. 2
B1547517023. 3
61547517024, 4

Question Number : 81 Question Id : 6154754365 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

f b o v’ 1 Td fAafonigg § § TRl a1 2 7
(1) e, T 3 EeEE

(2)  Hal & sfig fEEE gHEa

(3) W, HIEEE G SR S

(4) T, TP 3 S SR
Options:
615475170211
61547517022 2
61547517022, 3
61547517024 4

Question Number : 82 Question Id : 6154754366 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

To revenge the beheadings of Indian soldiers by Pakistan in 2011, the Indian army
conducted which one of the following operation

(1) Operation Meghdoot (2) Operation Spice
(3) Operation Ginger (4) Operation Revenge
Options:

615475170251
E1547517026. 2
61547517027, 3
E1547517025. 4

Question Number : 82 Question Id : 6154754366 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
A ZAT 2011 | 9EAE B % 3 FE TH F See o & o SR 5 F el 3 5
o7 T T an?

(1)  HIH TEE (2) ATTIE T
(3)  wwIE . (4) A ==
Options:

615475170251
B1547517026. 2
B1547517027. 3



BE1547517025. 4

Question Number : 83 Question Id : 6154754367 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“ISALEX-19" 1s joint security exercise of which one of the following

(1) International Security Alhance (2) Shanghai Cooperation Organisation
(3 European Umion (4) Gulf Cooperation Council
Options:

61547517029 1
E1547517020. 2
E1547517021. 3
B1547517032. 4

Question Number : 83 Question Id : 6154754367 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
“HTE UH U U 3 UHH- 19" Fefeliaa 9 @ e o due guen e 27

(1)  AFYE TET TaaeA (2) == FEAM T
(3)  TdETg (4) TS TEAT Ui
Options:

B1547517023. 1
61547517020, 2
61547517021, 3
E154751703Z2. 4

Question Number : 84 Question Id : 6154754368 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

‘Concentric linear of operations’ advocated by Jomini are those liner

(1) Which depart from Widely - separated points and meet at the same point

(2) Which often adopted for a single temporary maneuver

(3) Which are deep lines

(4) Which are adopted by one or two armies to oppose several hostile bodies
Options:

61547517032, 1
E1547517024. 2
E1547517035. 3
B1547517036. 4

Question Number : 84 Question Id : 6154754368 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547517033, 1
61547517034 2
61547517035 2
615475170326 4

Question Number : 85 Question Id : 6154754369 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
‘Defence Offset poliey ™ of India is an integral part of

(1) Nueclear doctrine (2) Counter insurgency

(3) Defence procurement procedure (4) Disaster management

urT kil 147 ufawns (ARde) T Fefafas 7 5 e = afim an g7

(1) i g (2) farea-famef
(3) & s i (4) HATTE wEET
Options:

61547517037, 1
61547517038, 2
E1547517039. 3
E1547517040. 4

Question Number : 85 Question Id : 6154754369 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

qred 1 T8 Ufaewn (ATEEe ) i FeteiEs 3 o e ot a2
(1) = fagm Q) fawE-faad
(3) 7T T UHAT (4) 39S TEEA
Options:

615475170371
61547517038, 2
61547517039, 3
E1547517040. 4

Question Number : 86 Question Id : 6154754370 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical



Correct Marks: 2 WrongMarks: 0

Who among the following gave his views on the concept of ‘Centre of Gravity’ in relation to

war

(1) Jomini (2) Carl Von Clausewitz
(3 William Mitchell (4) Henry Kissinger
Options:

E1547517041. 1
B1547517042 2
61547517043 3
61547517044, 4

Question Number : 86 Question Id : 6154754370 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

frfafad 9 @ fFed 9g & 999 § TReami F g F ATIRI & 91 | 91 Zfewon T e o
(1) N (2) FH T FATHETS

(3 fafm == (4) = FRER

Options:

61547517041, 1
E1547517042 2
E1547517043. 3
61547517044, 4

Question Number : 87 Question Id : 6154754371 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Who among the following theorists stated that ‘war 1s not made with an abstraction but with
a realhity™?

(1) Jomini (2) Carl Von Clausewitz
(3) Henry Kissinger (4) Wilhham Mitchell
Options:

615475170451
6154751704E. 2
E1547517047. 3
E1547517045. 4

Question Number : 87 Question Id : 6154754371 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) HTHAT (2) T T FATAELS
(3) I THE (4) faforem fr=e
Options:

615475170451
61547517046, 2
E1547517047. 3
E1547517045. 4

Question Number : 88 Question Id : 6154754372 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
In the context of human displacement. IDPs refer to

(1) Internationally Displaced People (2) Internally Displaced People
(3) Independently Displaced People (4) Internally Disturbed People
Options:

E1547517043. 1
E1547517050. 2
61547517051, 3
61547517052, 4

Question Number : 88 Question Id : 6154754372 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
HHE faea9a & 924 |, 31 51 9t & Heteiad § o e 51K ga 27

(1) HAUPE =Y TH4EATd a6 (2) =t =9 § fenfyg =afF
(3) = =9 o faonfm = (4) ARE ®T G 3 =
Options:

515475170439 1
61547517050, 2
61547517051, 3
61547517052, 4

Question Number : 89 Question Id : 6154754373 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
As per Indus water Treaty of 1960, which among the following rivers are named as “‘Western
Rivers’

(1) Sutlej, Beas, Ran (2) Ganga. Jammuna, Teesta

(3) EKosi, Mahakali. Brahmputra (4) Indus. Jhelum. Chenab

Options:



E1547517053. 1
61547517054, 2
61547517055 3
61547517056, 4

Question Number : 89 Question Id : 6154754373 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
1960 i 799 e Tfg % AF8W, Fefanad 9 F = 371 w0 av=m Ftmr = Tm = = 27

(1)  =aes, =, THEH (2) T, THAT, e
(3) =, HEERE, SEE (4) THa, F=m, ==
Options:

E1547517053. 1
E1547517054. 2
61547517055 3
61547517056, 4

Question Number : 90 Question Id : 6154754374 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

According to Military Balance 2019 (Published by the IISS. London) in tems of share of GDP,
elght out of ten top defence spending countries of the world are situated in sub-region called

(1) South Asia (2) South-East Asia
(3) Middle-East (4) Eastern Europe
Options:

E1547517057. 1
E1547517058. 2
E1547517053. 3
B1547517060. 4

Question Number : 90 Question Id : 6154754374 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1) = ofien (2) =fEm-gd wfern
(3) m=A-g (4) T T
Options:

61547517057, 1
E1547517058. 2
51547517059, 3
B1547517080. 4



Question Number : 91 Question Id : 6154754375 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Which among the following are related to the Realist approach to international relations?

(a) Tolerance

(b) Doctrine of circles

(c) Primacy of National Interest
(d) Peaceful coexistence

Choos the correct answer :

(1) (a) and (b)
(2)  (b)and (c)
(3) (c) and (d)
(4) (a) and (c)

Options:

61547517061, 1
61547517062 2
61547517063 2
61547517064 4

Question Number : 91 Question Id : 6154754375 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(@)  HEASAAT
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(1)  (a) 317 (b)
(2)  (b) #T (c)
(3) (c) 3 (d)

(4)  (a) T (c)

Options:

61547517061, 1
61547517062 2
61547517063 2
61547517064 4

Question Number : 92 Question Id : 6154754376 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Which among the following countries had participated in the first Inter-governmental
meeting of Experts of Indian Ocean RIM countries held in Port-Louis 1n 1995
(a) India
(b) China
(c) South Africa

(d) Newzeland

Choose the correct answer :

(1) (a) and (d)
(2) (c) and (d)
(3) (a) and (c)
(4)  (b) and (c)



Options:

61547517065, 1
1547517066 2
1547517087, 2
61547517068, 4

Question Number : 92 Question Id : 6154754376 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(a) A
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(c) ke ae ol
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(1)  (a) = (d)
(2)  (c) # A (d)
(3) (a) ¥ (c)

4)  (b) 3T (0
Options:
61547517065, 1
1547517066 2
61547517067, 5
61547517068, 4

Question Number : 93 Question Id : 6154754377 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the correct answer

(a) UNCLOS —III . article 1, deals with Breadth of territorial sea
(b) UNCLOS-III , article 5, deals with Bays
(c) UNCLOS-IIL article 6. deals with Right of innocent passage

(d) UNCLOS-IIL article 20, deals with Submarines and other under water vehicles

Choose the correct code given below :

(1) (b) and (c)
(2) (a) and (c)
(3) (b) and (d)
(4) (a) and (d)
Options:
1547517089 1
15475170702

E1547517071. 3
61547517072, 4

Question Number : 93 Question Id : 6154754377 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1 (b) 3 (o)
2 (@) 3 ()
(3)  (b)#7 (d)

(4) () #7 (d)

Options:
61547517069, 1



E1547517070. 2
B1547517071. 3
B1547517072. 4

Question Number : 94 Question Id : 6154754378 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Which among the following are parts of geological disaster?

(a) Valcanoes
(b) Drought
(c) Tsunam

(d) Floods

Choose the correct answer :

(1) (a) and (b)
(2) (b) and (d)
(3) (a) and (c)

(4) (b) and (c)
Options:
15475170731
E1547517074. 2
61547517075, 5
61547517076 4

Question Number : 94 Question Id : 6154754378 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Feferfian § ® 19 ® YA AT A

(b) HqHET
(c) AT
(d) e

(1) (a) 3T (b)
(2) (b) =T (d)
(3)  (a) ¥ (o)

@  (b) ¥ (0
Options:
615475170731
61547517074 2
61547517075 2
61547517076, 4

Question Number : 95 Question Id : 6154754379 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which among the following attributes are related to different dimensions of science

diplomacy?

(a) Using S & T cooperation to improve relations between countries

(b) Using economic cooperation as CBMs

(c) Facilitating International scientific cooperation and getting foreign S & T inputs for

indigenous progress

(d) Getting foreign and for development

Choose the correct answer :

(1) (a) and (d)
(2) (a) and (c)
(3)  (b)and (d)
(4) (c) and (d)

Options:

61547517077, 1
61547517078 2
61547517079 2
1547517020 4

Question Number : 95 Question Id : 6154754379 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(3)  (b) #E (d)

4)  (c) # i (d)



Options:

61547517077, 1
1547517078 2
1547517079 2
61547517080, 4

Question Number : 96 Question Id : 6154754380 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The ‘Cold Start’ doctrine of Indian Army 1s focured on

(a) Missile attack on Pakistan and China
(b) Use of Nuclear Weapons
(c) The ability to fight imited wars under nuclear umbrella

(d) The ability to launch quick, decisive, limited strikes against Pakistan

Choose the correct answer -

(1) (b) and (c)
(2) (a) and (c)
(3) (c) and (d)

(4) (a) and (d)
Options:
61547517051, 1
61547517082 2
615475170382, 3
61547517054, 4

Question Number : 96 Question Id : 6154754380 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(c)  ismhm o (S 37siet) % Hard HiHa Tg =S4 i S8

(d) F=E F g maiE, ForiEs oin @img T=n (7e) w0 A ama

(1)  (b) # (c)
(2)  (a) #T (0)
(3)  (c) 3T (d)

()  (a) ¥ (d)
Options:
E1547517081. 1
L1547517082. 2
L1547517082. 2
L1547517054. 4

Question Number : 97 Question Id : 6154754381 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Choose the correct objective of the Asian Infrastructure Investment Bank (AIIB)

(a) Invest in sustainable infrastructure and other productive sectors
(b) Better connect people. services and market
(c) Invest in military infrastructure

(d) Invest to strengthen defence production in India

Choose the correct answer :

(1) (a) and (c)
(2) (c) and (d)
(3) (b) and (d)

(4) (a) and (b)



Options:

61547517085, 1
61547517086 2
1547517087, 2
61547517088, 4

Question Number : 97 Question Id : 6154754381 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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el I FAET

(1) (a) FT (c)
@ (@3 (d)
(3)  (b) FE (d)

4)  (a) 37 (b)
Options:
61547517085, 1
61547517086 2
61547517087, 2
15475170288 4

Question Number : 98 Question Id : 6154754382 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The assumptions and approaches of Defence and Strategic Studies in Indian military
thought process during the post-independence period have been dominated by which of the

following -

{(a) Perception/misperception of India's strategic culture
(b) Historical legacy, geopolitical and geo-strategic manifestations
{c) Complex interplay of internal situation and international posture

{d) Continuity and changes in the threat perception and options of traditional and non-
traditional dimensions of national security and global strategic and non-strategic

affairs

Choose the most appropriate answer :

(1) (a) and (b)
(2) (e} and (d)
(3) (a), (b) and (d)

(4) (a). (b).(c) and (d)
Options:

61547517059 1
61547517090, 2
615475170391, =
61547517092 4

Question Number : 98 Question Id : 6154754382 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(c)  FAAUEE g R sgE vt Fi Fiea = A (S 5e )
(d) TE F A H A A TiEe SR TEE g v dfvas At aq oA Aeel &

(1) (a) FH (b)
() (e) 3 (d)
(3) (a). (b) 317 (d)

(4) (a). (b). (¢) 3 (d)

Options:

61547517059 1
61547517090, 2
615475170391, =
61547517092 4

Question Number : 99 Question Id : 6154754383 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

The Line Of Control (LOC) dividing Kashmir is frequently branded as the most dangerous
place on the Earth, the flash points for potential conflicts in the South Asia. These have
resulted into which of the following.

{(a) The Cold War mindset between India and Pakistan, as reflected in zero -sum game
scenario is continued

{(b) Cross-border terrorism as an instrument of Pakistan's policy aberrations against
India
(c) In Post-Kargil war scenario, nuclear alternative seems to hold its ultimate usability

(d) Lack of confidence building

Choose the most appropriate answer -

(1) (a) and (b)

(2) (b) and (e)

(3) (a).(b), (c) and (d)
(4) (b).(c) and (d)



Options:

61547517093, 1
61547517094 2
E15475170395 =2
61547517096, 4

Question Number : 99 Question Id : 6154754383 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (a) 317 (b)
(2)  (b) 3 (o)
{3) :aLtbLicnaﬁIidﬁ

(4)  (b). (¢) HT (d)
Options:
61547517093, 1
61547517094, 2
61547517095, 3
61547517096, 4

Question Number : 100 Question 1d : 6154754384 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



As thinker of economic power, Adam Smith articulated his ideas on which of the following

factors

(a) The economic power of a nation should be cultivated

(b) The economic power should be used as an instrument of statecraft
(c) The British colonial policy didn't pay in the mercantilist sense

(d) The art of war is certainly the noblest and most complicated of all arts

Choose the most appropriate answer :

(1) (a) and (b)
(2) (e) and (d)
(3) (a), (b). (e) and (d)

(4) {a). (b). and (c)
Options:
615475170971
61547517088, 2
61547517099, 3
61547517100, 4

Question Number : 100 Question Id : 6154754384 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(1)  (a) 3 (b)
(2)  (e) 3 (d)
(3) (a). (b). (c) 3 (d)

(4) (a). (b) 311 (c)

Options:
E1547517057. 1

E1547517038. 2
61547517085 3
61547517100, 4

Question Number : 101 Question Id : 6154754385 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



The objectives of India's No-First Use (NFU) nuclear weapon policy relies on

(a)

(b)

(c)

(d)

NFU policy enhances India's deterrence by enabling 1t to develop delivery triad of
nuclear weapon on land, sea and air

India's geography and strategic situation justified that the nuclear weapone were not
seen as the genuine response to the challenges of conventional defence

India's challenge 1s how to deter Pakistan's or other's first use of nuclear weapons
against 1t

India has reserved 1ts right to select how much. where. and when to retailate

Choose the correct answer :

(1)

(2)

(3)

(4)
Options:

(a) and (b)
(a).(b). (c) and (d)
(a). (b), and (c)
(b). (c) and (d)

61547517101, 1
E154751710Z. 2
E1547517103. 2
61547517104, 4

Question Number : 101 Question Id : 6154754385 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:



E1547517101.1
61547517102 2
61547517103, 3
61547517104, 4

Question Number : 102 Question Id : 6154754386 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
As a strategic theorist of sea power, A.T. Mahan's reputation rests on which of the following

(a) Command of sea through naval superionty
(b) Maritime commerce
(c) Overseas possessions

(d) Privileged access to foreign markets

Choose the correct answer :

(1) (a) and (b)
(2) (c) and (d)
(3) (a). (b).(c)

(4) (a). (b).(e) and (d)
Options:

51547517105, 1
61547517106 2
61547517107, 2
61547517108 4

Question Number : 102 Question Id : 6154754386 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TS Tk = HATA {9 & =9 ° 0295 F uider etangd 8 @ B w e s 27

(a)  wAHH HEar gRT SHE T SER
(b)  HHEE =AU

()  HHgUR H{TF

(d)  TEEl AT A e T
3'.3|_Ffl St g = 3k

1) (a) 37 (b)
(2)  (c) 3T (d)
(3) (a). (b) F (c)

4)  (a). (®). (¢) 7T (@)

Options:

61547517105, 1
61547517106 2
1547517107, 2
61547517108, 4

Question Number : 103 Question Id : 6154754387 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The primary risk drivers of the disaster contain which of the following

(a) Controlled urbanization
(b) Population expansion
(c) Chimate change

(d) Indiserimate development

Choose the correct answer :

(1) (a) and (b)
(2) (c) and (d)
(3) (a). (c) and (d)

(4) (b). (c) and (d)
Options:



E1547517103. 1
61547517110, 2
61547517111, 3
61547517112 4

Question Number : 103 Question Id : 6154754387 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
AR % U@ FEn FEH A etetEd § ¥ S 61 e 20
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(d)  T=EaEyT faF

(1)  (a) 37 (b)
(@) (o) #E (d)
(3)  (a). (c) @7 (d)

(4)  (b). () =T (d) T+t =& 7|
Options:

61547517109 1

61547517110, 2

61547517111, =

61547517112 4

Question Number : 104 Question 1d : 6154754388 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



The following 1s part of ‘Gujral doctrine’ in the context of

(a) Carefully take third party help 1n case of dispute in two countries

(h) Not to interfere in the internal affairs of another country

(c) Respect each others borders and Soverelignty

(d) Allows the countries of South Asia to we their land against any other country of the
reglon

Choose the correct answer :

(1) (a) and (c)
(2) (c) and (d)
(3) (b) and (¢)

(4) (a) and (b)
Options:
615475171131
61547517114 2
61547517115 =
61547517116, 4

Question Number : 104 Question Id : 6154754388 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1)  (a) 3 (o)
(2 (¢) F (D)
(3)  (b) #T (o)

(4)  (a) = (b)
Options:
615475171131
61547517114 2
61547517115 =
61547517116, 4

Question Number : 105 Question 1d : 6154754389 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
During world war II which of the following military operations were under taken

(a) Operation Compass
(b) Operation Polo
(c) Operation Vengeance

(d) Operation Duck

Choose the correct answer :

(1) (a) and (c)
(2)  (c) and (d)
(3) (b) and (d)

(4) (a) and (b)

Options:
61547517117, 1



E15475171158. 2
61547517115 3
61547517120, 4

Question Number : 105 Question 1d : 6154754389 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

fava Tz =+ W Feahgd § 9 F9E @ s e o ?
(a) HATHIE FEIH

(b)  FITTEA T
(c)  HATHIM Widqerd (=)

(d)  FTHIA =F

el I gAY

(1)  (a) =7 (¢
(2)  (e) T (d)
(3)  (b) T (d)

4 (a)#T (b)
Options:
615475171171
61547517118 2
1547517119 2
615475171204

Question Number : 106 Question Id : 6154754390 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Which of these categories of human rights abuse is/are covered in a specific UN legal human
rights instrument. Choose the correct answer :

(a) Racism

(b) Gender bias or violence against women

(c) Discrimination against the disabled

(d) Homophobia

Choose the most appropriate answer :

(1) (a) and (c)
(2) (a) and (d)
(3) (a) . (b) and ()

(4) (c), and (d)
Options:
615475171211
E1547517122 2
E154¥517123 3
61547517124 4

Question Number : 106 Question Id ;: 6154754390 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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(3)  (a). (b) T (c)

(4) (c) # R (d)

Options:



E1547517121.1
B1547517122 2
61547517123 3
61547517124, 4

Question Number : 107 Question Id : 6154754391 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Which of these instances of mass human rights abuse provoked humanitarian intervention

(a) Rawanda genocide
(b) Kosovo massacre by serbs
(c) Somalian Civil War

(d) Rohingyva problem in Bangladesh

Choose the correct answer :

(1) (b) and (c)
(2) (a) and (b)
(3) (c) and (d)

(4) (b) and (d)
Options:
615475171251
61547517126 2
61547517127 3
61547517128 4

Question Number : 107 Question Id : 6154754391 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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(1) (b) 3 (c)

(2) (a) 31 (b)

(3) (c) 31 (d)

(4)  (b) #H (d)
Options:

615475171251
61547517126 2
E1547517127. 3
B1547517128. 4

Question Number : 108 Question Id : 6154754392 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Identify the correct statements with reference to ‘Strum Ataka’

(a) A defence deal between India and Russia
(b) It i1s an air to air missile
(c) It 1s being developed by India and Israel

(d) It 1s an ant1 tank massile

Choose the correct answer -

(1) (a) and (b)
(2)  (a)and (d)
(3) (c) and (d)

(4) (b) and (c)

Options:



BE15475171259.1
61547517120, 2
61547517121, 3
61547517132 4

Question Number : 108 Question Id : 6154754392 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:
615475171291
61547517120 2
61547517121 =
61547517132, 4

Question Number : 109 Question Id : 6154754393 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the elements which lead to the escalation of defence expenditure of any country

(a) defence budgeting process

(b) armed forces modernisation programme
(c) arms control

(d) arms race

Choose the correct answer :

(1) (a) and (c)
(2) (b) and (d)
(3) (a) and (d)

(4) (c) and (d)

Options:

615475171231
E1547517124 2
615475171235, 5
61547517126, 4

Question Number : 109 Question Id : 6154754393 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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4 () ¥ (d)

Options:



E1547517133. 1
61547517124, 2
61547517135 3
61547517136, 4

Question Number : 110 Question Id : 6154754394 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Identify the issues related to logisties in Armed Foree
(a) Supply chain and communication

(b) Public opinion

(c) Transportation and medical aid

(d) Foreign policy issues

Choose the correct option:

(1) (a) and (c)
(2) (a) and (d)
(3) (c) and (d)

(4) (a) and (b)

Options:

615475171571
61547517128 2
61547517139 2
61547517140 4

Question Number : 110 Question Id : 6154754394 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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(1) (a) 7 (©)
(2)  (a) # (d)
(3) () 3 (d)

@ (@) 3 (b)
Options:
615475171371
61547517138 2
61547517129 2
1547517140 4

Question Number : 111 Question Id : 6154754395 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Choose the correct answer 1n relation to ICSID

(a) International centre for settlement of investment disputes 1s an arbitration
institutions for legal dispute resolution between governments and International

investors
(b) It 15 an organisation under the World Bank Group
(c) It works under the aegis of RBI

(d) Its head guarter 1s situted 1n Thailand

Choose the correct answer :

(1) (a) and (d)
(2) (a) and (c)
(3) (b) and (d)
(4)  (a) and (b)



Options:

61547517141, 1
61547517142 2
E1547517142 =2
61547517144, 4

Question Number : 111 Question Id : 6154754395 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

(a)  IaOgE FEw fEE Fem g oTE 3 AaieE FEe & fEias e amam 5q v fEE

T

(b) q_F'ilJﬂT:!_«Fﬂ'H_F'T ﬂfﬂ:[ﬂtﬁwﬁf

(c) I AN S ATE F AcaraE °§ FH AT B

(d) = TS dEavs § | R

(1)  (a) = (d)
(2) (a) =717 (c)
(3) () =T (d)

@ (a) W (b)
Options:
61547517141, 1
E1547517142 2
E154¥517143 =
61547517144 4

Question Number : 112 Question Id ;: 6154754396 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Choose the correct answer 1n relation for Chadarvan-2

(a) Chandaryaan-2 project 1s the first attempt by any nation to make a soft landing on

the moon's mineral rich south pole

(b) If India achieves this target in its first attempt, 1t will make India only the fifth

country to soft land on the lunar surface
(c) Chandaryaan-2 1s a project of DRDO
(d) Chandaryaan-2 1s a project of ISRO

Choose the correct answer :

(1) (a) and (b)
(2) (a) and (d)
(3) (a) and (b)

{4) (a) and (c)
Options:
61547517145 1
61547517146 2
61547517147 =
61547517145 4

Question Number : 112 Question Id : 6154754396 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TEAM-2 % TEg H TRl I g4
(@) TEAE-2 TES WES W99 ° TG Sl o A 99 W el i9 3o W et 6 gm w
TIH T E

(b)  If2 WEE A9 UUH TEE A 3@ @EA HI UH F oAdT 7, d G241 F TaE W GHAYES 9t Jrel

(c) T=aF-2 3 AR 51 30 i gt #

(d) TEAE-2 A% UH AW o (TE) i g E

(1)  (a) 37 (b)
(2)  (a) 37 (d)
(3) () # W (b)

(4)  (a) #T (c)

Options:

51547517145, 1
E1547517146. 2
61547517147, 5
61547517148 4

Question Number : 113 Question Id ;: 6154754397 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Choose the correct answer in relation to SASEC

(a) South Asia Subregional Economic Cooperation (SASEC) seeks to strengthen
multimolel eross border transport networks that boost intraregional trade in East
and South East Asia

(b) It works under the aegis of ASEAN
{c) SASEC was set up in 2001
(d) Pakistan is also a member of SASEC

Choose the correct answer :

(1) (a) and (c)
(2)  (b)and (c)
(3) (a)and (d)
(4)  (c)and (d)

Options:



E15475171459. 1
61547517150, 2
61547517151, 3
61547517152 4

Question Number : 113 Question Id : 6154754397 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
F}Ht{méﬁmﬁﬁﬁﬁaﬁ—m T

(@)  =femn i Iuam SiE FEAm (TE U A 3 H) w1 sy T AR glarE o A =mm

F1 Sl 2 % foe g5fag dimr ow Tfees Jead # wv = 2
(b)  IE AMH3TH & dcaig= § F9 Fd 2

()  TETTE I H fi ToEr 2001 § 2 o

(d) i o ve T e g o EEe

(1) (a) #11 ()
(2)  (b) T (¢)
(3) (a) # N (d)

4 (o) FT ()
Options:
61547517149 1
61547517150 2
1547517151, 2
1547517152 4

Question Number : 114 Question Id : 6154754398 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



With regard to South China Sea. which of the following countries share their border with
South China Sea?

(a) Vietnam

(b) Japan

(c) Philipines

(d) Myanmar

Choose the correct answer :

(1)  (a)and (d)
(2)  (b) and (d)
(3)  (a)and (c)
(40 (c)and (d)

Options:

61547517153, 1
61547517154 2
61547517155
1547517156 4

Question Number : 114 Question 1d : 6154754398 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

oo = TR % TEy 4, efahga 9 O B 2o A O 2w < e g ot 27

(a) IEEGEIE|
(b) EILIE]
(c) EaERIEe
(d) =i esiny

(1) ()3 (d)
2  (b) 3T (d)
(3) (a) # M (0)
4 (o) # (d)

Options:
6154751715321



E1547517154. 2
61547517155 3
61547517156, 4

Question Number : 115 Question 1d : 6154754399 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Identify the general types or policies followed in economic warfare

(a) Blockade
(b) Force Modernisation
(c) Preemptive buying

(d) Alternate budget system

Choose the correct answer :

(1) (a) and (c)
(2) (b) and (c)
(3) (a) and (d)

(4) (a) and (b)
Options:
615475171571
61547517158 2
61547517159 =
61547517160, 4

Question Number : 115 Question Id : 6154754399 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



= " TR AT i i aeae fifae e s g 1 s e s 2

W

(a) BIEREE]
(b) AT AT

(c) 9 4 (Mi-ufea =)

(d)  IFTF I92E =TI

T—I_F':T 3 ﬂ;:F' o

(1) (a) FT (c)
(2)  (b) # T (c)
(3)  (a) ¥R (@)

4 (2) # (b)
Options:
615475171571
61547517158 2
61547517159 =
61547517160, 4

Question Number : 116 Question Id : 6154754400 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Match the following developmentsin the context of Korean Peninsula as given in List I with
their vear of occurrence in List -II by using the correct codes mentioned below

List I (developments/occurrence) List IT (vear)

(a) The US-North Korea signed “Agreed (i) 2003

Frame work ™
(b) Collapse of the “"Agreed Framework =~ (ii) 2005

(e) Six-party agreement on (iii) 2002
denuclearization of North Korea

(d) North Koreas withdrawl from the (iv) 1994

Nuclear Non-proliferation treaty

Choose the correct option:

(1) (a)-(1), (b)-(11), {e)-(111). (d}-(iv)
(2) (a)-(ii), (b)-(iv), (e)-(1), (d)-(iii)
(3) (a)-(1iv), (b)-(i11). (e)-(11), (d)-(1)
(4)  (a)-(iid). (b)-(id). (e)-(i). (d)-(iv)

Options:



E1547517161. 1
61547517162 2
61547517163, 3
61547517164, 4

Question Number : 116 Question Id : 6154754400 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
FIETE TGN F H@ed H g1 9 a9z w FE-I0E Ted 396 g9 F 99 F |, A= e e wd

F2 F TAF W, GHAT FHIAT

T I (1 /7 -1 (1)
(a) I "H-IW HA T W FHEH I O(1) 0 2003
(b) s FHEAE" F T2 A (i) 2005

(c) T HINAT Fl FHANEEG 99 F HEg B (i) 2002
FE—q&T Tua

(d) A IUEE AT T ST HIE B OAAT EAT (iv) 1994

TEl I gAY

(1) (a)-(1). (b)-(11). (e)-(111). (d)-(1v)
(2) (a)-(11). (b)-(1v). (e)-(1). (d)-(1m1)
(3) (a)-(1v). (b)-(111). (e)-(11). (d)-(1)
(4) (a)-(111). (b)-(11). (e)-(1). (d)-(1v)
Options:

51547517161 1

51547517162, 2

61547517163, 3
61547517164, 4

Question Number : 117 Question Id : 6154754401 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following Israeli-Palestinian Agreements given in List-I with their dates of
signing/entry into force in List-II by using the codes mentioned below

List I (Agreements)
{a) Israel-Palestine Interim Agreement
on West Bank and Gaza strip
(b) Israel Palestine Declaration of

Principles (DOP)
The Gaza-Jericho Agreement

Israel-Pakestine  Agreement
preparatory transfer of powers

(e)
(d)

on

Choose the correct option:

() (a)-(). (b)-(ii). (e)-(iii). (d)-(iv)

(2) (a)-(iv), (b)-(1i1). (e)-(1), (d)-(11)

{3) (a)-(iii), (b)-(iv). (e)-(i1), (d)-(1)

(4) (a)-(11). (b)-(1). (e)-(1v), (d)-(i11)
Options:

E1547517165. 1
B154751716E6. 2
61547517167, 3
61547517168, 4

(1)

(ii)

List I {Date of signing/entry into force)
May 4, 1994

Aug 291994

(1i1) Sep 13, 1993
(iv) Sep 28, 1995

Question Number : 117 Question 1d : 6154754401 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

= f2r T Fz W wEm W g1 8 5 T swEe -t oaEE i = H A T I W e

314/ e 2 A fofer e i

-1 (T )

(a) Ulv=Hl q2 3R T 22l % gEY § sHEe -
[ e _,1. [a) .- 'IL 1‘_: 2
(b) TEEA-TEe=E fmgE F =
EEL)
(¢)  TIT-SAf=H! Tg=a
(d) TRYF T T F Y H -
[ e _,1. [a) | 1.:‘
TE I G
(1) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(2) (a)-(1v). (b)-(11). (e)-(1). (d)-(11)
(3) (a)-(11). (b)-(1v), (e)-(m). (d)-(1)
(4) (a)-(1). (b)-(1). (e)-(1v). (d)-(111)

Options:

(1)

(11)

(111)

(1v)

-1 (FFmem 21 ER M i T51)
4 mE, 1994

20 M, 1994



E1547517165. 1
61547517166, 2
61547517167, 3
61547517168, 4

Question Number : 118 Question Id : 6154754402 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Math the code names of the first nuclear tests given in List-I with the countries which

conducted them as given in List II by using the codes mentioned below

List I (code names of Muclear Tests) List IT (Countries)
(a) Project 596 (i) USSR
(b) Trinity (i1) Pakistan
() RDS3-1 (i) TUSA
{d) Chagai-1 {iv) China

Choose the correct option:

(1) (a)-1). (b)-(id). (c)-(iii), (d)-(iv)
(2)  (a)-(i). (b)-(iid), (e)-(iv). (d)-(i)
(3) (a)-(iii), (b)-(iv), (e)-(ii), (d)-(i)
(4) (a)-(iv), (b)-(iii), (e)-(i), (d)-(i1)

Options:
61547517169 1

E1547517170. 2
E1547517171. 3
B1547517172. 4

Question Number : 118 Question Id : 6154754402 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



4= fou . F2 w1 vEm = g1 | Sighaa wum Al e % Fe T w6 3 w1 T

-1 (s wfieqor =1 F2 1) T1-11 (51)
(a) =T 596 (1) FTETH AR
(b) T () T
(c) ¥F 3iwE-1 (i) FwAT
(d) =ms 1 (iv) =M

(1) (a)-(1). (b)-(11). (c)-(111). (d)-(1v)
(2) (a)-(11). (b)-(111). (e)-(1v). (d)-(1)
(3) (a)-(111). (b)-(1v). (c)-(11). (d)-(1)
(4) (a)-(1v). (b)-(111). (e)-(1), (d)-(11)

Options:

51547517169, 1

51547517170, 2

61547517171, 3
61547517172 4

Question Number : 119 Question 1d : 6154754403 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Match the List I with List 1T

ListI List IT

(Space missions/tests) (Year)

(a) ChandaryvaanlI (i) 2007
(by Cartosat-2 (n) 2013
(e) A-SAT (iii) 2019
{d) DMangalyaan {iv) 2008

Choose the correct option:

(1) (a)-(iv), (b)-(1), (e)-(1i1), (d)-(ii)
(2 (a)-(1i1), (b)-(iv), (e)-(1). (d)-(1i)
(3)  (a)-(v), (b)-(11). (c)-(111), (d)-(1)
(4) (a)-(1), (b)-(i1). (e)-(1ii), (d)-(iv)

Options:
615475171731



E1547517174. 2
61547517175 3
61547517176, 4

Question Number : 119 Question 1d : 6154754403 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

T=1-1 1 g=-11 % @12 gefeq Fif=e
T=-1 T=-11
(et Toer fodtem) (=)
(a) ==aMA-1 1) 2007
(b) FRHZ-2 (i) 2013
(c) mw-mgwd (T-Te) (ii1) 2019
(d) weEE (iv) 2008
HEl I AT

(1) {a)-(1v). (b)-(1). (c)-(111). (d)-(11)
(2) (a)-(111). (b)-(1v). (€)-(1). (d)-(11)
(3) (a)-(1v). (b)-(11). (c)-(1m). (d)-(1)
(4) (a)-(1), (b)-(11). (c)-(111), (d)-(1v)
Options:

1547517173 1

51547517174, 2

61547517175 3
61547517176, 4

Question Number : 120 Question 1d : 6154754404 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match the following strategic thoughts given in List I with their contributors as given in

List IT by using the codes mentioned bhelow

List I (strategic thoughts)

{a) Push to the Utmost (i)

(b) Strategv of Indirect approach (ii)
{e)  Sub-Limited Nuclear war {iii)
{d) Doctrine of circles (iv)

Choose the correct option:

(1) (), (b)-(iid). (©)-(v). (d)-(1)
(2 (@)-(id), (b)-(iv), ()-(0), (d)-(ii)

(3)  (2)-(v), (b)-(0), (0)-(id), (d)-(ii)
@ (@)@, (b)-(id). (o)-(iid), (d)-(iv)

Options:

E1547517177. 1
61547517178, 2
E1547517173. 3
B1547517180. 4

List IT (contributors)
Kautilya
Carl Von Clausewitz
Capt. B.H. Liddell Hart
Andre Beaufre

Question Number : 120 Question Id ;: 6154754404 Question Type: MCQ Option Shuffling: No Display Question Number : Yes

Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
= fom T F2 w1 TEE = gEl-1 ° Sfgiad St fE w1 g1 9 R T SEEE T e &
1y gl e

(@ TET

=11 (=t fT=m)

(b) AT IIFTH =

(¢) Fu-Hifmm w13

(d) gilg HoE

(1)
(2)
(3)
(4)

Options:

(a)-(11). (b)-(111). (e)-(1v). (d)-(D)
(a)-(m1). (b)-(av). (e)-(1). (d)-(11)
(a)-(1v). (h)-(1). (c)-(111). (d)-(11)

(a)-(1). (b)-(11). (c)-(111). (d)-(1v)

-1 (wetan)
(1) Fieea

oof -
(11) hlct =d #ﬂl\ﬂldq\ﬂ
(iii) 2 = =, fE2d 212

(iv) U= E[%



B1547517177.1
61547517178, 2
61547517175 3
61547517180, 4

Question Number : 121 Question Id : 6154754405 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Mateh List I and List IT

List I List IT
{Area of Disaster) {Year of Disaster)
{a) Bengal Cyclone (i) 1995
(b) Andhra Cyclone (i) 1977
{c) Odisha Super Cyclone (1ii) 2004
(d) Indian Ocean Tsumani (iv) 1970

Choose the correct answer :

(1) (a)-(11), (b)-(1v), (e)-(1). (d)-(iii)
(2)  (a)-(w), (b)-(ii). (e)-(iid), (d)-(1)
(3)  (a)-(i). (b)-(iii), (e)-(iv), (d)-(ii)
(4)  (a)-(iii). (b)-(i), (e)-(id). (d)-(iv)
Options:

61547517181 1

61547517182, 2

E1547517183. 3
B1547517184. 4

Question Number : 121 Question Id ;: 6154754405 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



g1 =1 g=t-I1 & gofed Fifao

g1 .11
(17T =1 &) (w921 1 =)

(a) =T d THAT i) 1999

(b) Y TN H THA i) 1977

(¢) fifSen § AT =ham (iii) 2004

(d) T5= WEEPR § TS%aE (iv) 1970

T v g

(1) (a)-(11), (b)-(iv), (c)-(1). (d)-(111)
(2) (a)-(1v). (b)-(11). (c)-(111), (d)-(1)
(3) (a)-(1). (b)-(111). (c)-(1v). (d)-(11)

(4) (a)-(111), (b)-(1). (c)-(1). (d)-(v)
Options:
61547517181, 1
61547517182 2
1547517182 2
61547517184, 4

Question Number : 122 Question Id : 6154754406 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I and Last IT

List I List IT
(Name of the Boundary Line) (Countries)
(a) Blue hine (1) India-Srilanka
(b) Purple line (1) Israel-Syra
(c) 38 Parallel north (1) Israel-Lebanon
(d) Palk strait (iv) North Korea-South Korea

Choose the correct answer :

(1) (@-). (b)-(11). (e)-(11). (d)-(1v)
(2) (a)-(1v). (b)-(1). (¢)-(11). (d)-(11)
(3) (a)-(). (b)-(v), (e)-(1). (d)-(111)
(4) (a)-(1), (b)-(11). (c)-(aw). (d)-(1)



Options:

61547517185, 1
61547517186 2
1547517187, 2
61547517188, 4

Question Number : 122 Question Id : 6154754406 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
-1 1 g=1-11 5 gafem Firae

FHI-I T=1-10
(el T =1 ) (=)
(a) == W= (1) -
(b) WY A (i) SsEE-HiE
(¢ 38 gAY (iii) TS
(d) T =2 (iv) 39 SiFgT—afEer FifE

TEl T gHET

(1) (a)-(1). (b)-(111). (e)-(11), (d)-(v)
(2) (a)-(iv). (b)-(1). (c)-(111), (d)-(i1)
(3) (a)-(11). (b)-(1v). (c)-(1). (d)-(111)

(4) (a)-(11), (b)-(11), (c)-(1v), (d)-(1)
Options:

51547517185, 1

61547517186 2

61547517187, 2

15475171388 4

Question Number : 123 Question Id : 6154754407 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Match-Last I with Last IT

List 1 List IT
(Books) (Authors)

(a) India's Adhoc Arsenal : Direction or (1) Suml Khilnani
Drift 1n Defence policy

(b) Arming without Aiming: India's (1) Raju G.C. Thomas & Gordon H.

military modernization Bordon (ed)
(¢) The Idea of India (1) S.P. Cohen and Sunil Dasgupta
(d) Indian security policy (iv) Chris Smith

Choose the correct option from those given below :

(1) (a)-(11), (b)-(1). (c)-(1v). (d)-(111)
(2)  (a)-(v). (b)-(112). (c)-(2). (d)-(11)
(3)  (a)-(u). (b)-(11). (¢)-(1v). (d)-(1)
(4) (a)-(1). (b)-(iv). (c)-(11). (d)-(111)
Options:

61547517159 1

61547517190, 2

61547517191,

61547517192 4

Question Number : 123 Question Id ;: 6154754407 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

=11 TH-II
() (F7aF)
(a) A UE B AEAG : SEERA AN B9 () g faenH
) ot fagEz ofim . Emw ffEed () Tw ShEL dame AW MR A anes
HisAigsvH (Trefae)
(c) 7 smefem =i sfem (i) wE.H. FEA SR G T
(d) === fEegfE gl (iv) Twa fm

(1 (a)-(11). (b)-(1). (c)-(1v). (d)-(111)
(2) (a)-(1v). (b)-(111). (e)-(1). (d)-(11)
(3)  (a)-@Gid). (b)-(11), (¢)-(iv). (d)-(1)
(4) (a)-(1). (b)-(iv). (¢)-(11). (d)-(111)
Options:

61547517159 1

615475171390 2



E15475171391. 3
615475171382 4

Question Number : 124 Question Id ;: 6154754408 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
Match Last I with Last IT

List I Last II
(Books) (Authors)
(a) Theory of international politics (1) Dawnid A. Baldwin

(b) Thinking about National security: (u) Harold Brown
Defence and forelgn policy 1n
Dangerous world

(c) Paradoxes of power () Keneth N. Waltz

(d) Region and powers : The structure of (1v) Barry Buzan and Ole
international security

Choose the correct option from those given below:

(1) (a)-(111). (b)-(1). (e)-(1v), (d)-(11)
(2) (a)-(111), (b)-(11). (e)-(). (d)-(1v)
(3  ()-Gv). (b)-(). (e)-(Gid), (d)-(ii)
@ (2)-0). (b)-(ii). (e)-(d), (d)-Gv)

Options:
61547517153 1

E15475171394. 2
51547517185 3
515475171396, 4

Question Number : 124 Question 1d : 6154754408 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



T 1 =115 Feferd Hiw

=11 TI-IT
(=7F) (F7a)
(a) =AM ATE 2T TileTiead 1) =S v awstE

(b) TafFm zm@msz Avae famgfdt @ 59w vz (1)  20es @A

() ITsiFEw ¥ (iti) 4 O AT

(d) T Uz TiEH : 3 WER AT SeeREE (iv) SO gEE S e

H= fow o 9 o = fawen g

(1) (a)-(111). (b)-(1). (€)-(1v), (d)-(11)
(2)  (a)-(u). (b)-(1). (c)-(1). (d)-1v)
(3)  (a)-(v). (b)-(1). (e)-(111). (d)-(11)
4)  (@-0). (b)-(1). (e)-(). (d)-(av)
Options:

615475171931

615475171494 2

E15475171385 3
E15475171396. 4

Question Number : 125 Question Id : 6154754409 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Match List I with Last IT

List I (Books) List IT (Authors)
(a) Peace and war (1) RayS. Cline
(b) Games Nations play (1) Raymond Aron

() World power trends and US foreign (i) Karl Deutsch
policy for the 1980s

(d) The analysis of international politics (iv) John Spamiar and Robert L.Wendzel

Choose the correct option from those given below:

(1) (a)-(m), (b)-(v). (e)-(). (d)-(11)
(2)  (@-). (b)-av). (e)-(1). (d)-(111)
(3)  (@-v). (b)-(). (©)-(1). (d)-(11)
(4  (2)-@). (b)-(111). (c)-(v). (d)-(1D)



Options:

615475171971
61547517198 2
1547517199 2
61547517200 4

Question Number : 125 Question Id : 6154754409 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

g=it-1 1 g=1-I1 T gHfea Fifaw

L .11 ()
(b) T HEE @) bisdd

(¢) dvS WK =55 UF J.UF. FHA T B 2 (1) Fe =g

1980 =

(d) 7 TANAEE A% ST Tieiad (iv) i P R Oe8 uE. degAd
Hr fou o A @ = fawew 9w

(1) (a)-(11). (b)-(1v). (c)-(1). (d)-(11)
(2)  (a)-@). (b)-(v). (c)-(1). (d)-(111)
(3 (@-Av). (b)-(1). (e)-(i). (d)-(iii)
(4) (a)-(1). (b)-(i11). (e)-(1v). (d)-(11)

Options:
B15475171497. 1

E154751713958. 2
E1547517139%5. 3
61547517200, 4

Question Number : 126 Question Id : 6154754410 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Arrange the following in the correct ascending chronological order by using the codes given
below

() Potsdam conference

(h) Yalta conference

{c) Bretton Woods conference

id) Tehran Conference

Choose the correct option from those given below:

(1) (a). (b). (c). (d)
(20 (b, (e). (). (d)
(3) (d). (c). (b). (a)
(4 (e). (b). (d), (a)

Options:

61547517201, 1
E1547517202. 2
61547517202,
61547517204 4

Question Number : 126 Question Id : 6154754410 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
e T2u U e TR F 70 FEa i SARE FEwAEET SHa g i

(a)  T=EEH OmeH
(h) AeeT T

(c)  ®2d g4 HEEH

(d) dadl- HH¥HoH

(1) (a). (b). (c). (d)
(2) (b). (c). (a), (d)
(3) (d). (c). (b). (a)

(4) {c). (b). (d). (a)

Options:



E1547517201. 1
B1547517202 2
61547517203, 3
61547517204, 4

Question Number : 127 Question Id : 6154754411 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange the following in the correct ascending order by using the codes given below :

{a) India became a full fledged dialogue partner of the ASEAN
(b} India ratified Paris Accord on Climate Change
{c) Formation of BIMSTEC

(d) Launching of SAVE programme

Choose the correct option from those given below]

(1) (&), (b), (). (d)
(2)  (b). {e). (d). (a)
(3)  (e). (d). (b). (a)
(4 (d) (a), (e). (b)

Options:

61547517205, 1
61547517206 2
E1547517207. 2
61547517208 4

Question Number : 127 Question Id : 6154754411 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



i f2u T Fz 1 A w70 a5 A Fes A ST i

(a) T AR 1 T QOEU ATEEH 541

(b) WA A WAaTg UHEdA * 9R H UE TEH i A9 i

(d) HE (WEUHiE.) FEEE B ORE

A Towed g

(1) (a). (b). (c). (d)
(2) (b). (c). (d). (a)
(3) (e). (d). (b). (a)

(4) (d). (a). (c). (b)

Options:

61547517205, 1
61547517206 2
E1547517207. 2
61547517208 4

Question Number : 128 Question Id : 6154754412 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following nuclear doctrines in their ascending chronclogical order by using the
codes given below
{a) Strategic Defence Initiative (SDI)
(b} Strategv of Flexible Response

(e) Strategy of Mutually Assured Destruction (MAD)

(d) Strategy of Massive Retaliation

Choose the correct option from those given below:

(L) (a), (M), (e). (d)
(2)  (d). (b). (c). (a)
(3) (@) (e). (b). (d)
(4) (b). (d). (). (a)

Options:
61547517209, 1



E1547517210. 2
61547517211, 3
B154751721%. 4

Question Number : 128 Question 1d : 6154754412 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Hr 20 T T w1 e e wU e e g AR R HEE S i

(a) T (= T (ve 2.0, )

(b)  T2ZHI ATH TAGHES THI
(c) T2l AT HggHe A s (TETEl)

l:_d} _;*u.n ":q'ftﬁ e s r--‘ .ﬂ-; _\_,3-

(1) (a). (b). (c), (d)
(2) (d). (b). (c). (a)
(3) (a). (c). (b), (d)

(4) (b). (d}). (c). (a)
Options:
61547517209, 1
61547517210 2
61547517211, 2
E1547517212. 4

Question Number : 129 Question Id : 6154754413 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Arrange the following in their ascending chronological order by using the codes given below :

(a) The United Nations convention Against Illicit Traffic in Narcotics and Psychotropic
substances

(b) The UN General Assembly Resolution 50/148 regarding the dangers posed by drug
trafficking and its links with money, laundering. transnational erime and small arms

diffusion

(c) The UN Securitvy Council Resolution 2117 regarding international cooperation on
Arms control

{d) Entry into force of the Arms Trade Treaty (ATT)

Choose the correct option from those given below:

(1) (a), (b). (e). (d)
(2) (), (e). (d). (b)
(3)  (b).(d), (e). (a)
(4)  (d). (a), (b), (c)

Options:

615475172131
61547517214 2
61547517215 2
61547517216, 4

Question Number : 129 Question 1d : 6154754413 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

2 B ™, i ] e " i _ N, o [ sl L
1= T7m T Fd = TIPT Hid TC HHEAET 1 376 ARET HicTHH H SFHGETd EIEL Lt

ooy i 3 Ty g = L . I 3 y - .
(a) T =31 HAR ATHIMTE TSI Fl 3IY =ANE F G55 T T8 F AT997T (Frad2H )

(b) =i TSI % =AW HE IHE A A2, TUOETE A F S BeEn # Hew & oAy g6
T 3079 W] % GF H T TP | AEEE] F1 TEAE-50/ 148

(c) % T3=1 % =1 | g Tl T HI TP i e Ty = wEE-2117

(d) T ST 9iY ('E,Efl.'r!cr.} T 1] i i

(1) (a). (b). (c). (d)
(2) (a). (c). (d). (b)
(3) (b). (d). (). (a)
(4) (d). (a). (b). (c)

Options:
615475172131
61547517214 2



E1547517215. 3
B1547517216. 4

Question Number : 130 Question Id : 6154754414 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Arrange chronologically the following is their correct ascending order by using the codes
given below:

(a) The initiation of the US Strategic Defence Initiative Organisation (SDIO)

() Official end of the Strategic Defence Initiative (SDI)

ic) Creation of the US Missile Defence Agency (MDA)

(d) Canberra Commission on the elimination of nuclear weapons

Choose the correct option from those given below:

(1) (2. ®). (). (d)
(2) (b, (). (d). (a)
(3) (e, (d). (b). (a)
(49 (2. (®)(d).(e)

Options:

615475172171
61547517218 2
61547517219 2
615475172204

Question Number : 130 Question Id : 6154754414 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



e fou 0 g2 = AW Fa 7y FEfEg B g6 SRR w6 1 sAategd S

(a) 7% SEEEEE HAE T . UE, HEAH (6 SHEEE SATAEAE (TS, . )
(b) SIS U 3% § o e sl (ve.E e,
(€0 7.7, TwmmEe fovw vl (w.Ein.) 1 g5

(d) A FHEE AE T CAEATE A e e

T faeheg g

(1) {a). (h). (c). (d)
(2) (b). (c). (d). (a)
(3) (c). (d). (b). (a)

(4) (a). (b). (d). (c)

Options:

615475172171
61547517218 2
61547517219, 2
E1547517220. 4

Question Number : 131 Question Id : 6154754415 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Arrange chronologically the following UN Convetionsin the correct ascending order by using

the codes given below :

(a) The UN Convention to Combat Desertification

(b)  The UN Convention against Corruption

{c) The UN Convention on the Rights of Child

{d) The UN Convention aganist Transnational Crime

Choose the correct option from those given below:

(1) (a). (b), (e). (d)
(2) (e} (a). (d). (b)
(3) (b (). (), (d)
(4)  (d), (b), (a), (c)

Options:



B1547517221. 1
B1547517222 2
B1547517223. 3
E1547517224. 4

Question Number : 131 Question Id : 6154754415 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A o e o 7 o . e . e T S 7 e

(a) TR F ARG 904, B

(b) MW F g I.vA. e
(c) &= AN W .04, TrHeH

(d)  TEIHE FEE % Eeg 3.0, e

HE Ty ﬂ_;q. I

(1) (a). (b). (c) 3 (d)
{(2) (c). (a). (d) AT (b)
(3)  (h). (c). (a) 3 (d)

(4) (d). (b). (a) 317 (¢)

Options:

£1547517221. 1
1547517222 2
61547517222
61547517224 4

Question Number : 132 Question Id ;: 6154754416 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Arrange the following names of Indian Defence Ministers in ascending chronological order :

(a) Kailash Nath Katju
(b) Yashwant Rao Chavan
(c) N. Gopalaswami

(d) Swaran Singh

Choose the correct answer from the codes given below :

(1) (d). (b). (a). (e)
(2) (c). (a). (b). (d)
(3) (a). (c). (d). (b)

(4)  (b). (a). (d). (c)
Options:
61547517225 1
E15475172268. 2
B1547517227. 3
61547517228 4

Question Number : 132 Question 1d : 6154754416 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



e % 11 HEET & Afoiad T 39 HIehAEaT SRR 3 § geadiedy HIan

(a)  THETEETS HET
(b)  TWEA T FEATT
(¢) U TuTETEETH

(@ T faE

Frfefias F2 8 @5 =1 9T

(1) (d). (b). (a). (c)
(2) (c). (a). (b). (d)
(3)  (a) (o). (d). (b)

(4) (b (a). (d). (c)
Options:
615475172251
61547517226 2
61547517227, 2
E1547517228. 4

Question Number : 133 Question Id : 6154754417 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
Arrange the following earth quakes occured 1in India 1n descending chronological order

(a) Chamol1

(b) Jand K

(c) Latur and Osmanabad
(d) Gujrat

Choose the correct answer from the codes given below :

(1) (b). (e). (a). (d)
(2  (@. (). (d). (@
(3) (). (d). (a). (c)
(4) (o). (a). (d). (b)

Options:



B1547517229. 1
61547517230, 2
61547517221, 3
E154751723%2. 4

Question Number : 133 Question Id : 6154754417 Question Type: MCQ Option Shuffling : No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

A T A FAfaiEn S W FEHAEET STEE FE § geaad i

(a) AT

(b) TUEH

(c) AT U3 G

(d) NEG]

(1) (b). (c). (a). (d)
(2) (a). (b). (d). (c)
(3) (®). (d). (a). (c)

(4) (e). (a). (d). (b)
Options:

B1547517229. 1
E1547517230. 2
B1547517231. 3
61547517232 4

Question Number : 134 Question 1d : 6154754418 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



Arrange the following committes on Indian Defence in ascending chronological order :

{a) Kargil Review Committee

(b) Committee on Defence Expenditure

{c) Group of Ministers Task force on Defence Management
(d) Naresh Chandra Commission to Review National Security

Choose the correct answer from the codes given below -

(1)  (b), (e), (a). (d)
(2)  (d). (e). (a). (b)
(3)  (b), (a). (c). (d)

(4)  (a), (d), (b), (e)
Options:
615475172331
61547517234 2
61547517225 =
61547517236, 4

Question Number : 134 Question Id : 6154754418 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

A T8 T FEAfARad Al w1 399 FOHATET AEE F0 § geEaeyd Fi

{a} < IE]. ol ‘Eﬁﬁ?ﬂ'{ Hﬁﬁl
(b)  TET = W AMH
(©) & UEYA W HEAT % F 5 GHF

(d)  TEE e 1 e % o i = A

Hr 5w o 2w wE I g

(1)  (b). (e). (a). (d)
(2) (. (e). (a). (b)
(3)  (b). (a). (¢). (d)

4 (a).(d). d). ()

Options:
615475172331



E1547517234. 2
61547517235 3
61547517236, 4

Question Number : 135 Question 1d : 6154754419 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O

Arrange the following treaties in ascending chronological order :

(a) Treaty of Turkomanchay
(b) Treaty of Sanguli
(c) Treaty of Lhasa

(d) Treaty of Yandabo

Choose the correct code given below :

(1) (e). (b). (d). (a)
(2) (b). (d). (a). (c)
(3) (c). (a). (d). (b)

(4)  (b). (c). (a). (d)
Options:

61547517237, 1
61547517238, 2
61547517239 3
61547517240, 4

Question Number : 135 Question 1d : 6154754419 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



TAferiad Efemt i FFATEN SRR F9 § Sated fia
(a)  TEEEE = A

(b)  HTFIEI =l HG

(c) == i\t

(d)  =rEEn i oEE
Hr f2u T w2 T = Fe 9T

(1) (c). (b). (d). (a)
(2) (b). (d). (a). (c)
(3) (c). (a). (d). (b)

(4) (D). (c). (a). (d)
Options:
61547517237, 1
61547517238 2
61547517239 2
61547517240 4

Question Number : 136 Question 1d : 6154754420 Question Type: MCQ Option Shuffling: No Display Question Number :

Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A): The art of correct distribution of troops is the great art of war.

Reasons (R) : He who tries to be strong evervwhere will be strong nowhere.

Eead the statement and choose the correct answer using code below:

(1) Both (A) are (R) are correct
(2) {A) is correct, but (R) is false
(3) (A) is false, but (R) is correct

(4) Both (A) are (R) are false

Options:
61547517241, 1
61547517242 2

61547517243 3

Yes



E1547517244. 4

Question Number : 136 Question Id : 6154754420 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Frat fom e (A) Fo1 7 (R) F fom o 52 1 vmam i

ATGFHAA (A) U 5 % Fet [aam 7 el g i HEeagol wel 2
7% (R) : AR W A S Hladl ® 9% FA Hi Haed T2 7

(1) (A) 317 (R) 3F1 971 2
(2)  (A)=F E A (R) T4 2
(3)  (A)TTEd 2 FR(R) T 2

(4) (A) 377 (R) =F1 T4 7

Options:

61547517241, 1
E1547517242 2
61547517242, 5
61547517244 4

Question Number : 137 Question Id ;: 6154754421 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



Given below are two statements — one labelled as Assertion (A) and the other labelled a

Reason (R) :

Assertion (A):  The overall guality of personnel managing intelligence agencies is far from

desirable in India.

Reaszons (R) : The requirement of intelligence service in India 1s not deseriable.
ERead the statement and choose the correct answer using code below :

(1) Assertion (A) 1s incorrect but (R) 1= correct
(2) Assertion (A) 1s correct but (R) 1s incorrect
(3) Both Assertion (A) and Reason (R) are incorrect

(4) Both Assertion (A) and Reason (R) are correct
Options:

1547517245 1

E1547517246. 2

E154r517247. 2

61547517245 4

Question Number : 137 Question Id : 6154754421 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
1 21w T2 T E T | UE w0 AfaEes (A) 991 29 w96 (R) FE T E

AT (A) : GIFAT TG T TS FH 96 FHS A ET R ° AiSa T H ST
&l
7% (R) : " § Giean e i SEvgwal aisAE T4 2

FA1 1 Tl 997 FEfeiEad F20 § TE 39 g6

(1)  =1fFeE (A) 7o 7 371 (R) T3 2|
(2) ATEFUA (A) T AR (R) T4 2|
(3)  HATH=HYA (A) 77 7% (R) SH1 7o 2|
(@) =AFFeE (A) 70 7 R) IE T8 7

Options:
61547517245 1



E1547517246. 2
B1547517247. 3
615475172458, 4

Question Number : 138 Question 1d : 6154754422 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
Given below are two statements — one labelled as Assertion (A) and the other as Reason (R) :

Assertion (A) : The Department of Defence deals with Integrated Defence staff. three

services and various interservice organizations of India to ensure National

Defence.

Reasons (R) : Self reliance in Defence 1z rarely possible due to both strategic and

£CoNnomic reasons

Read the statements and choose the correct answer using codes given below :

(1)
(2)
(3)
(4)

Options:

Assertion (A) 1s correct and Reason (R) 13 not correct
Both Assertion (A) and Reason (R) are correct
Both Assertion (A) and Reason (R) are incorrect

Assertion (A) 1s not correct but Reason (R) 1s correct

61547517249 1
E1547517250. 2
B1547517251. 3
B1547517252. 4

Question Number : 138 Question 1d : 6154754422 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O



1 21w fau v # foen v 1 srfames (A) a9 26 1 9 (R) Fer T E

AFFA (A) TEE G T G A 6 (o1 T T wHEea 1 =i, d6 S 991 96

% (R) : HITsTh 9T ATH FHE0 & 1877 90 § ACHHET 9792 5 999 2
FYAT I T 791 1= &L T F2T F UEF F 50 TEl I AT

e 4y v )
@ s (A) ST ) @ A

(3)  HATTHYA (A) 31T 7% (R) 241 T7l F51 7

(4)  wrfeEE (A) T3 94 £ o 9 (R) 9E 2
Options:

154751724591

1547517250 2

1547517251 2

61547517252, 4

Question Number : 139 Question Id : 6154754423 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

Identify the correct code for the Assertion (A) and Reason (R) as given below :

Assertion (A): Military alliances were designed to advance respective nationalistic

interests of the parties concerned.

Reasons (R) : Alliances enable joint military operations if one of the parties becomes

involved in war in the pursuit of such ohjectives.
Read the statement and choose the correct answer using code below:

(1) (A) is correct, but (R) is false

(2) (A) is false, but (R) is correct

(3) Both (A) and (R) are correct, and (R) is supportive of (4)
(4) Both (A) and (R) are false: (R) is unsupportive of (A)

Options:

615475172531
61547517254 2
61547517255 2



E1547517256. 4

Question Number : 139 Question Id : 6154754423 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: 0

Fr= fou T sy (A) 9 9% (R) F 90 @8 2 %1 95 i

ATTFEE (A) - Hated va % AU TEETE feal ® 9GH % o2 3 713 STEET F S o T

w* (R) : i I A H AT H TF U g H MEA w1 2 A AA TeE FIE A

]
arl

s T S 2

(1) (A) T3 2 31 (R) 774 2|
(2) (A) T 7 3 (R) T8 2
(3) (A) 7 (R) =H1 521 2 31 (R) (A) 1 994 2 |

(4) (AT (R) 5H e 2 #E (R) (A) 1 HHEE TE5 E

Options:

615475172531
61547517254 2
61547517255 2
E1547517256. 4

Question Number : 140 Question Id : 6154754424 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



Identify the correct code for the following Assertion (A) and Reason (R) :

Assertion (A): In June Last Year, FATF placed Pakistan on the grewv list of countries

whose domestic laws are considered weak to tackle the challenges of

monev laundering and terrorism financing.

Reasons (R) : The FATF monitors the progress of its members in implementing

necessary measures, reviews money laundering and terrorist financing

techniques and counter measures.

Read the statement and choose the correct answer using code below :

(1)
(2)
(3)
(4)

Options:

Assertion (A) is wrong and Reason (R) is true
Both Assertion (A) and Reason (R) are wrong
Both Assertion (A) and Reason (R) are true and (R) is not related to (A)

Both Assertion (A) and Reason (R) are true and (R) is the correct explanation of (A)

615475172571
61547517258, 2
61547517259, 3
61547517260, 4

Question Number : 140 Question Id : 6154754424 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

Fefea AtaFYE (A) @ 76 (R) & 98 F2 F1 95

ATFET (A) T 99 9§ UF U UF F N H 3 5o i g-gei | wn ek o wEE
e (T STEf) qu oTa® e 5 A @ feed § w5 e 2

7F (R) : UE U A UE A Ao g AETAE SO HEEEA, S (HH0 Sisn) i
1 2

(3)
(4)

Options:
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E1547517257. 1



E1547517258. 2
61547517259, 3
61547517260, 4

Sub-Section Number: 2
Sub-Section 1d: 615475197
Question Shuffling Allowed : Yes

Question Id : 6154754425 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension



Read the passage given below and answer the questions which follow, based on vour
understanding:

In the past two decades, India has undergone dramatic transformations in the economic,
social and political spheres. The country has radically transformed its economy and 1s now
projected to be on course to become the third largest economy in the world by 2030. Besides
this spectacular economic growth. Indian democracy has steadily consolidated and expanded
1ts scope and remit 1n the post—independence era. The recent successes of civil socilety groups
1n mobilising public support for various causes are testimony to the power and resihience of
democratic India’s ability to negotiate conflicts within the society through peaceful methods.
However, despite 1it’s numerous successes, India faces enormous challenges at the domestic.

regional and global levels.

India’s economic growth has not been matched by the evolution of its governance structures
and industrial competence resulting in high expectations of pohtical institutions to bridge
the gap between promise and performance. India's growth story has not vet translated into

the economic democracy envisioned by the country’s leaders. This may cause greater social

and political stresses than those that India has had to content with during the first six
decades after its independence. The rise in maoist violence in large areas of India 1s one such
challenge. and tackling it would require a concerted effort to bridge the development deficit.
Basides radical left movements. India also has to manage manifestations of violent political
dissent 1n some states, including the Naga insurgency in northeast India and the Kashmr
1ssue 1n north. A number of insurgent groups that are involved 1n such conflicts are at times
alded and abetted by institutions in neighbouring countries, as 1s the case with some groups
in Kashmir. India 1s also home to a number of terrorist groups that are motivated by
relizious or ethnic grievances. Addressing these and other related domestic security
concerns will preoccupy India’s Leaders in the coming decade.

Sub questions

Question Number : 141 Question 1d : 6154754426 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0



According to paragraph. India's spectacular economic growth has resulted due to dramatic
transformation in which of the following spheres:

(1) Military, social and religious spheres

(2) Social, economic and military spheres

(3) Religious, economiecs and military spheres
(4) Political, social and economic spheres
Options:

61547517261, 1
E1547517Z262. 2
E15475172E63. 3
E1547517264. 4

Question Number : 142 Question Id ;: 6154754427 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According the paragraph. democratic India’s ability to negotiate conflicts within society

through peaceful methods were due to the success of the following:

(1) Servants of India Society Groups (2) Civil Society Groups
(3) Social Reforms Society Groups (4) Cultural Welfare Society Groups
Options:

61547517265, 1
61547517266, 2
E1547517Z67. 3
E1547517268. 4

Question Number : 143 Question Id : 6154754428 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
According to the paragraph. India’s growth story has not vet translated into economic

democracy due to the mismatch of which of the following:

(1) Economic growth. scientific development and Industrial competence

(2) Evolution of governance structure, scientific development and industrial competence
(3) Industral competence. economic growth and scientific development

(4) Industrial competence. evolution of governance and economic growth

Options:

E1547517269. 1
B1547517270. 2
B1547517271. 3
E1547517272. 4

Question Number : 144 Question 1d : 6154754429 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0



According to the paragraph. one of the challenges for concerted efforts to bridge the

development deficit 1s the following:

(a) Child abuse violence
(b) Violence based on human trafficking
(e) Maoist violence

(d) Insurgency violence

Choose the correct answer :

(1) (a) and (b) are true: (¢) and (d) are false
{(2) (c) and (d) are true: (a) and (b) are false
(3) (a). (b). (c) are true; but (d) 12 false

(4) (a). (b). (c) and (d) all are true
Options:

15475172721

1547517274 2

1547517275 2

1547517276 4

Question Number : 145 Question Id : 6154754430 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
According to the paragraph. which of the following challenges would be the preoccupation of

the Indian leadership in the comming decade:

(a) Terrorism
(b) Insurgencey
(c) Maoist violence

(d) Challenges to economic growth

Choose the correct answer:

(1) (a) and (b) are correct: (c) and (d) are false
(2) (b) and (c) are correct: (a) and (d) are false
(3 (a). (b). (c) are correct, but (d) 1s false

(4) (a), (b). (c) and (d) all are correct

Options:
61547517277, 1



B1547517278. 2
B15475172758. 3
61547517280, 4

Question Id : 6154754425 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (141 to 145)
Juestion Label - Comprehension
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Sub questions

Question Number : 141 Question Id ;: 6154754426 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
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Options:

61547517261, 1
61547517262 2
61547517263 2
61547517264 4



Question Number : 142 Question Id : 6154754427 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

TR F AAAR WA R A AT % 6 G 9 F9ed 0 Sreartes 9nd i @ Feretad 9 85

el TEedT & I o 7

(1)  T=a AT =4 TEEd 79 @ fofas gEmEd 1=
(3) = frer AEEd g (4) Fealel doTFE FEEL TH
Options:

BE1547517265. 1
E1547517266. 2
B1547517267. 3
61547517268, 4

Question Number : 143 Question 1d : 6154754428 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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T EUEE?
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Options:
1547517268591
15475172702
1547517271 2
1547517272 4

Question Number : 144 Question 1d : 6154754429 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547517273, 1

61547517274, 2

61547517275, 3

61547517276, 4

Question Number : 145 Question 1d : 6154754430 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:
L1E47FE17277F. 1
E1E4FE1727E. 2
L1547E17279. 2
L1547517280. 4

Sub-Section Number: 3
Sub-Section Id: 615475198
Question Shuffling Allowed : Yes

Question Id : 6154754431 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No

Question Numbers: (146 to 150)
Juestion Label | Comprehension



Eead the passage given below and answer the questions which follow:

The TFinancial Action Task Forece' (FATF), Secretariat located at Paris is an Inter-
governmental body established in 1989 by the Ministers of its member Jurisdictions. The
objecives of FATF are to set standards and promote effective implementation of legal
regulatory and operational measures for cambating money laundering, terrorist financing
and other related threats to the integrity of the international financial system. First issued
in 1990, the FATF recommendations were revised in 1996, 2001, 2003 and 2012 respectively
to ensure that they remain up to date and relevant, and they are intended to be of universal
application. The United Nations recognised the FATF as the global standard setter to
combat terrorist financing when it adopted UN Security Council Resclution 2462 (2019)
which is solely focused on countering terrorist financing and has embedded the need to
implement the FATF standards for combating terrorist financing into international law. The
FATF Blacklist and Grey list has been issued by the Financial Action Task Force since 2000
and lists countries which it judges to be non — cooprative in the global fight against money
laundering and terrorist financing, calling them Non — Cooperative Countries or Territories’
(NCCTs).... In June 2018, FATF placed Pakistan on the grey list of countries whose domestic
laws are considered weak to tackle the challenges of money laundering and terrorist
financing. As of now .. there are two countires placed in the blacklist of FATF — Iran and
North Korea — and seven on the Grey list including Pakistan. Myanmar, Syria and Yemen.

Sub questions

Question Number : 146 Question 1d : 6154754432 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical
Correct Marks: 2 Wrong Marks: O

The Financial Action Task Force (FATF) recommendations were 1ssued for the first time in

which one of the following years:

(1) 1990
(2) 2001
(3) 2003
(4) 1996
Options:

61547517281, 1
61547517282, 2
E1547517283. 3
E1547517284. 4

Question Number : 147 Question Id : 6154754433 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0

According to paragraph. which among the following countries have been placed in the

blackhist of FATF:

(1) Myanmar and Syria (2) Iran and North Korea

(3) Iran and Yemen (4) Pakistan and North Korea



Options:

61547517285, 1
61547517286 2
E1547517287. 2
61547517288, 4

Question Number : 148 Question Id : 6154754434 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
The UN Security Council Resolution 2462 (2019) 1s focused on which of the following:

(1) Countering Terrorist Financing

(2) The countries whose domestic laws are weak to tackle terrorism
(3) Money laundering

(4) Blacklhisting North Korea.

Options:

61547517289, 1
E1547517230. 2
E15475172391. 3
B1547517252. 4

Question Number : 149 Question Id ;: 6154754435 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
The HQ of Financial Action Task Force (FATF) secretariat 1s based 1n

(1) Washington (2) Sweden
(3) Norway (4) Pans
Options:

61547517232 1
E1547517234. 2
B1547517235. 3
B15475172396. 4

Question Number : 150 Question Id : 6154754436 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0

The countries which are supporting terror finding and money laundering can be put Into
which one of the following areas:

(1) Eed and Orange List (2) Black and White List
(3) Grey and Black List (4) Greyv and Red Last
Options:

B1547517297. 1
615475172388, 2
615475172399 3
E1547517200. 4

Question Id : 6154754431 Question Type: COMPREHENSION Sub Question Shuffling Allowed : Yes Group Comprehension
Questions: No



Question Numbers: (146 to 150)
Juestion Label - Comprehension
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Sub questions

Question Number : 146 Question Id : 6154754432 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 WrongMarks: 0
ST TR 2 B (UE.UA, T, ) i SA9E etatad 9 | TR oy 5 Teel | n SHl i s off ¢

(1) 1990
(2) 2001
(3) 2003

(4) 1996
Options:
E1547517251.
61547517282,
61547517283,
61547517284,

o LI

Question Number : 147 Question 1d : 6154754433 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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Options:

61547517285, 1
E1547517286. 2
B1547517287. 3
BE1547517288. 4

Question Number : 148 Question Id : 6154754434 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

61547517285, 1
61547517230, 2
61547517231, 3
E1547517232. 4

Question Number : 149 Question Id : 6154754435 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: 0
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Options:

BE15475172593. 1
E15475172394. 2
B1547517235. 3
B1547517236. 4

Question Number : 150 Question 1d : 6154754436 Question Type: MCQ Option Shuffling: No Display Question Number : Yes
Single Line Question Option : No Option Orientation : Vertical

Correct Marks: 2 Wrong Marks: O
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615475172371
61547517238, 2
E1547517259%8. 3
E1547517200. 4



